
Q1) A) Fill in the blanks. (Any 5 out of 6) [5]

i) A _______ is a written order given to a bank to pay on demand.

(Promissory note, Cheque, Bill of Exchange)

ii) _______ is an enforceable and legally binding contract made
through software.

(Proposal, Acceptance, E-Contract)

iii) A person who buys a goods or services by paying is called a _____.

(Customer, Salesman, Producer)

iv) Innovations made by human beings with their own intellect and
mind is _______ property.

(Intellectual, Physical Economical)

v) A valid document must always be in _________.

(Oral, Promise, Writing)

vi) The consumer protection Act 2019 came into force accross India
from _________.

(20 July 2020, 26 Dec. 1986, 24 Dec. 1987)
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B) Match the pair. [5]

      'A' Group       'B' Group

i) A written promise to pay a) 3 Members

ii) Shrink wrap contract b) Promissory note

iii) The District Forum c) E-Contract

iv) Copyright d) Not getting money

v) Dishonor of instrument e) 60 years

Q2) What do you mean by promissory note? Explain the characteristics of
promissory note. [15]

Q3) Explain personal information protection - crime and punishment by explaining
the importance of E-Commerce. [15]

Q4) Explain Consumer Protection Councils in detail. [15]

Q5) Explain the objectives, organs and activities of the 'World Intellectual
Organisation'. [15]

Q6) Write short notes (Any 3) : [15]

a) Types of transfer of negotiable instruments

b) Electronic Signature

c) Characteristics of Consumer Protection Act

d) Copyright

e) District Forum





Total No. of Questions : 6]

[6224]-601
T.Y. B.Com.

361 : BUSINESS REGULATORY FRAMEWORK - II
(2019 Pattern) (Semester - VI) (CBCS)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) àíZ H«$. 1Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm ©̀ Amho.

2) àíZ H«$. 2, 3, 4 Am{U 5 _Yrb H$moUVohr 3 àíZ gmoS>dmdoV.

PB-1376

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr nmM) [5]

i) _mJUr H$aVmM n¡go X`mdo bmJUmar ~±Ho$bm {Xbobr boIr Amkm åhUOo ............
hmò .

(dMZ{MÇ>r, YZmXoe, h§þS>r)

ii) B©-H$ama åhUOo gm°âQ>doAa nÕVrÛmao ~Zdbobm, A_bmV AmUbobm d H$m`XoeranUo
~Zdbobm .......... hmo`.

(àñVmd, ñdrH¥$Vr, H$ama)

iii) Á`m ì`{ŠVZo _mo~Xbm XoD$Z dñVy qH$dm godm IaoXr Ho$br Agob; Ë`m ì`{ŠVbm
............ Ago åhUVmV.

(J«mhH$, {dH«o$Vm, CËnmXH$)

iv) _mZdmZo ñdV:À`m ~wÕrZo d _ZmZo Ho$bobr ZdrZ {Z{_©Vr åhUOo .............. g§nXm
hmò .

(~m¡ÕrH$, em[aarH$, Am{W©H$)

v) MbZj_ XñVEodO hm Zoh_r .............. ñdê$ßmmV AgUo Amdí`H$ Amho.

(Vm|S>r, dMZ, {b{IV)

vi) J«mhH$ g§ajU H$m`Xm 2019 hm ........... nmgyZ g§nyU© ^maVmV bmJy Pmbm Amho.

(20 Owb¡ 2020, 26 {S>g|~a 1986, 24 {S>g|~a 1987)

3 P.T.O.
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~) `mo½` OmoS>çm Owidm. [5]

   "A' JQ>      "~' JQ>

i) n¡go XoÊ`mMo boIr dMZ A) 3 gXñ`

ii) qe«H$ a°n H$ama ~) dMZ{MÇ>r

iii) {Oëhm J«mhH$ _§M H$) B©-H$ama

iv) H$m°nramB©Q> S>) n¡go Z {_iUo

v) XñVEodOmMm AZmXa B©) 60 df}

àíZ àíZ àíZ àíZ àíZ 2) dMZ{MÇ>r åhUOo H$m` Vo gm§JyZ dMZ{MÇ>rMo d¡{eï>ç ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) B©-H$m°_g©Mo _hÎd gm§JyZ d¡̀ {ŠVH$ _m{hVr g§ajU JwÝhm d {ejm ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) J«mhH$ g§ajU n[afXm§Mo g{dñVa dU©Z H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) OmJ{VH$ ~m¡ÕrH$ g§KQ>ZoMo CÔrï>ço, gmYZo Am{U H$m ©̀H«$_ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr 3) [15]

A) MbZj_nÌH$mÀ`m hñVm§VaUmMo àH$ma

~) BboŠQ´>m°{ZH$ ghr

H$) J«mhH$ g§ajU H$m`XçmMr d¡{eï>ço

S>) H$m°nramB©Q> (boIm{YH$ma)

B) {Oëhm _§M


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Q1) A) Fill in the blanks with the most appropriate alternative. (Any 5)
[5 × 1 = 5]

i) ________ are not formed for earning profit.
a) Co-operative Society b) Public Company
c) HUF d) Private Company

ii) Dividend received on shares is comes to the _______ side of profit
and loss account.
a) Income b) Expenditure
c) Interest d) Loss

iii) Branch not keeping the full system of accounting is also known
as ________.
a) Foreign Branch b) Dependent Branch
c) Independent Branch d) None of the above

iv) Branch account is prepared to ascertain __________.
a) Profit and Loss of the Branch
b) Financial Statement of the Business
c) Assets and Liability of the Head Office
d) None of the above

v) _________ is prepared to maintaining the small expenses like
carriage postage, entertainment etc.
a) Management Books b) Petty Cash Book
c) Accounting Books d) None of the above

SEAT No. :
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vi) Debt to equity ratio establishes the relationship between _______.
a) Long-term debt (external equities) and current assets (internal

equities)
b) Current Assets and Current Liabilities
c) Long-term debt (external equities) and owner’s equity (internal

equities)
d) None of the above

vii) _________ can be utilized for the purpose of construction of
building for the business of the Society.
a) Building Fund b) Reserve Fund
c) Education Fund d) Loans and Advances

B) State whether the following statements are True or False. (Any 5)
[5 × 1 = 5]

i) A society which as proclaimed as its objective the promotion of
economic interest of its member.

ii) The word Co-operation is working together for common purpose.
iii) Stock and Debtors method is adopted generally in those branches

which are small in size.
iv) Net worth of the Company is Total Assets minus Total Liabilities.
v) All branch expenses such as rent, salary are paid by branch in case

of Dependent Branch.
vi) The primary objective in the formation of Co-operative Credit Society

is promoting of saving.
vii) Debtors Turnover Ratio is expressed in terms of times.

C) Match the following : [5 × 1 = 5]
  Group 'A' Group 'B'

i) Maharashtra Co-operative a) R.D.D.
Society Act

ii) Reserve for Doubtful Debts b) 1960
iii) Loaning in Opening & Closing c) AI

Stock
iv) Working Capital d) Current Assets Less

Current Liabilities
v) Artificial Intelligent e) Stock Reserve Account

D) Write Short Notes (Any 3) : [3 × 5 = 15]
i) Forensic Accounting
ii) Accounting for Corporate Social Responsibility
iii) Accounting for Derivative Contracts
iv) Independent Branches
v) Objectives of Ratio Analysis
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Q2) From the following trial balance of Amruteshwar Co-operative Credit Society
Limited, Pune for the year ended 31st March 2024. Prepare Profit and Loss
Account for the year ended 31st March 2024 and Balance Sheet as on that date
after considering the adjustment given thereafter. [20]

Trial Balance as on 31st March 2024
Particulars Debit Rs. Credit Rs.

Share Capital
Paid up capital 12,00,000
Cash in Hand 400 -
Cash at Bank 30,000 -
Cash Credit (A.S.N.C Bank) - 2,70,000
Reserve Fund - 1,60,000
Postage & Telegrams 200 -
Travelling Expenses 800 -
Advertisement 1,000 -
Interest on Loan - 2,40,000
Dividend Equalization Fund - 20,000
Building Fund - 20,000
Loan to Members

1. Medium Term 16,40,000
2. Emergency 20,000

Insurance 1,200 -
General Expenses 1,000 -
Audit Fees 1,600 -
Common Good Fund - 10,000
Interest on Fixed Deposits - 14,000
Dividend on Shares - 8,000
Sale of loan forms - 400
Profit & Loss A/c (Opening) - 46,400
Furniture 6,000 -
Printing & Stationery 3,000 -
Annual General Meeting expenses 3,600 -
Honorarium to secretary 8,000 -
Interest on Cash Credit 32,000 -
Investment in shares of A.S.N.C Bank 80,000 -
Investment of reserve fund in fixed deposit 1,60,000 -
Total 19,88,800 19,88,800
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Additional Information :
a) Stock of stationery as on 31st March 2024 was Rs. 1,000/-
b) Interest accrued on Investment amounted to Rs. 2,000/-
c) Provide depreciation at 10% p.a. on Furniture.
d) Provide for Bad & Doubtful Debts Rs. 1,000/-
e) Honorarium payable to the secretary Rs. 800/-
f) The Authorised Share Capital are Rs. 20,00,000/-

Q3) The following is Profit and Loss A/C and Balance Sheet of GG Ltd. Pune for
the year ended on 31st March 2024. [20]

Trading and Profit & Loss Account for the year ended 31st March, 2024
   Particular Rs. Particular Rs.

To Opening Stock 10,00,000 By Sales 90,00,000
To Purchases 60,00,000 By Closing stock 12,00,000
To Carriage and Freight Inward 2,00,000
To Gross Profit b/d 30,00,000
Total 1,02,00,000 Total 1,02,00,000
To Administration Expenses 14,00,000 By Gross Profit b/d 30,00,000
To Selling and Dist. Expenses 2,50,000 By Non-Operating Incomes:
To Non-Operating Expenses 50,000 Interest on Securities 1,00,000
To Net Profit c/d 14,00,000
Total 31,00,000 Total 31,00,000

Balance Sheet as no 31st March, 2024
Liabilities Amt. Rs. Assets Amt. Rs.
Equity Share Capital 20,00,000 Land and Building 10,00,000
Reserves & Surplus 17,00,000 Plant and Machinery 12,00,000
Sundry Creditors 10,00,000 Stock 12,00,000
Bills Payables 5,00,000 Debtors 10,00,000

Bills Receivables 2,00,000
Cash at Bank 6,00,000

Total 52,00,000 Total 52,00,000

Calculate :
a) Gross Profit Ratio
b) Net Profit Ratio
c) Operating Ratio
d) Current Ratio
e) Liquid Ratio
f) Stock Turnover Ratio
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Q4) ‘M’ Corporation of Pune has a branch at Satara. The head office (H.O) invoice
goods to branch at 25% on Invoice Price. The branch transfers all cash received
to H.O. in daily. All branch expenses are paid from the H.O. The following
information are available for the year 2023-2024. [20]
Particulars Amount (Rs.)
Branch Stock (1.4.2023) at Invoice Price 80,000
Branch Debtors (1.4.2023) 20,000
Petty cash (1.4.2023) 2,000
Cash sales 30,000
Discount Allowed to Branch Debtors 4,000
Bad Debts Written off 3,000
Return from Customer 1,500
Collection from Debtors 1,20,000
Goods Sent to Branch (Invoice Price) 2,00,000
Goods Return to H.O (Invoice Price) 16,000
Credit Sales 1,50,000
Closing Stock (at Invoice Price) (31.3.2024) 1,00,000
Cheques received from H.O for expenses.
1. Salaries 12,000
2. Rent & Taxes 6,000
3. Advertising 5,000
4. Petty cash 3,000
Actual Petty Expenses incurred by Branch 4,000
You are prepare the following the Branch Accounts for the year ended on
31st March 2024:
a) Branch Stock A/c,
b) Branch Debtors A/c,
c) Branch Petty Cash A/c,
d) Branch Adjustment A/c,
e) Branch Expenses A/c,
f) Branch Profit & Loss A/c.





Q1) A) Fill in the blanks. (Any five) [5]
i) The Human development index released from ______

a) 1947 b) 1950
c) 1990 d) 2014

ii) F.D.I. stands for ________.
a) Foreign direct investment
b) Foreign direct Inter-vention
c) Foreign domestic investment
d) Fast direct investment

iii) India is the founder member of ________
a) ASIAN b) SAARC
c) USA d) UAE

iv) International trade means _________
a) Trade between countries
b) Trade between regions
c) Trade between provinces
d) Trade between two states
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v) The Multidimensional Poverty Index (M.P.I) is released by _____.
a) World Bank b) World Economic Forum
c) U.N.D.P. d) Asian development bank

vi) _______ means a systematic record of all economic transactions
between one country and rest of the world.
a) Balance of Trade b) Balance of Transactions
c) Budget d) Balance of payments

B) Match the following. [5]
      'A'       'B'

i) I.M.F. a) Balance of Trade
ii) G.D.I b) International Bank for

Reconstruction and
Development

iii) World Bank c) Gender Development Index
iv) EXIM policy d) International Monetary Fund
v) Current Account e) Foreign Trade Policy

Q2) Explain the role of Human resources in economic development. [15]

Q3) Explain the role of foreign capital in economic development. [15]

Q4) Explain the India’s recent foreign trade policy. [15]

Q5) Explain the functions of SAARC. [15]

Q6) Write Short notes (Any three) : [15]
a) Human Poverty Index.
b) Limitations of foreign capital
c) Convertibility of Indian Rupee on current Account.
d) BRICS
e) Global Hunger Index


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr nmM) [5]
i) ‘mZd {dH$mg {ZX©oem§H$ .......... nmgyZ à{gÕ H$aÊ¶mV ¶oVmo.

A) 1947 ~) 1950
H$) 1990 S>) 2014

ii) E’$.S>r.Am¶. (F.D.I) åhUOo ..........
A) naH$s¶ àË¶j Jw§VdUyH$ ~) naH$s¶ WoQ> hñVjon
H$) {dXoer Xoem§VJ©V Jw§VdUyH$ S>) ObX WoQ> J§wVdUyH$

iii) ^maV ........... ¶m g§ñWmnH$ gXñ¶ Amho.
A) A{g¶mZ (ASIAN) ~) gmH©$ (SAARC)
H$) ¶w.Eg.E. (USA) S>) ¶w.E.B©. (U.A.E.)

iv) Am§Vaamï´>r¶ ì¶mnma åhUOo ........... hmo¶.
A) Xoem§Xoem‘Yrb ì¶mnma ~) àXoem‘Yrb ì¶mnma
H$) àm§Vm‘Yrb ì¶mnma S>) XmoZ amÁ¶m§‘Yrb ì¶mnma

v) ~hþAm¶m‘r XmarÐç {ZXo©em§H  (M.P.I) ........... H$Sy>Z Omhra Ho$bm OmVmo.
A) OmJ{VH$ ~±H$ ~) OmJ{VH$ Am{W©H$ ‘§M
H$) ¶w.EZ.S>r.nr. S>) Am{e¶mB© {dH$mg ~±H$

vi) ......... åhUOo EH$ Xoe Am{U Cd©[aV OJ ¶m§À¶mVrb gd© Am{W©H$ ì¶dhmam§Mr Zm|X
hmo¶.
A) ì¶mnmaVmob ~) ì¶dhmam§Mr {e„H$
H$) AW©g§H$ën S>) ì¶dhmaVmob

3 P.T.O.
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~) Imbrb OmoS>çm Owidm. [5]
   "A' >            "~'

i) Am¶ E‘. E’$. (I.M.F.) A) ì¶mnmVmob

ii) Or.S>r.Am¶. (GDI) ~) Am§Vaamï´>r¶ nwZ{Z‘m©U d {dH$mg ~±H$

iii) OmJ{VH$ ~±H$ H$) qbJ^md {dH$mg {ZX©oem§H$

iv) E³Pr‘ nm°{bgr S>) Am§Vaamï´>r¶ ZmUo{ZYr

v) Mmbw ImVo B©) {dXoer ì¶mnma YmoaU

àíZ àíZ àíZ àíZ àíZ 2) Am{W©H$ {dH$mgmVrb ‘mZdr g§gmYZmMr ŷ{‘H$m ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) Am{W©H$ {dH$mgmVrb naH$s¶ ^m§S>dbmMr ŷ{‘H$m ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) ^maVmMo gÚmMo {dXoe ì¶mnma YmoaU ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) gmH©$Mr H$m¶©o ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) ‘mZdr Xm[aÐç {ZX©oem§H$

~) naH$s¶ ^m§S>dbmÀ¶m ‘¶m©Xm

H$) Mmbw ImË¶mdarb ^maVr¶ ê$n¶mMr nardV©{Z¶Vm

S>) {~«³g (BRICS)

B) OmJ{VH$ ŷH$ {ZX©oem§H$





Q1) A) Fill in the blanks. (Any 5) [5]
i) Balance of Trade is in surplus when ________

a) The value goods of exports in greater than the value of goods
of imports.

b) The value goods of exports is equal to the value of goods of
imports.

c) The value goods of the exports is less than the value of goods
of imports.

d) The value capital goods of exports is equal the value of capital
goods of imports.

ii) A Disequilibrium in Balance of payment can also be corrected
by_________
a) Demonitisation b) Devaluation
c) Revaluation d) Depreciation

iii) Balance of payment of country does not include _____
a) Current account b) Capital account
c) Money account d) Miscellaneous Account
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iv) _______ is a component of invisible exports.
a) Software services b) Machineries
c) Equipments d) Medicines

v) The head quarter of MNCs is located _________ country.
a) Own country b) Neighbour country
c) In the working country d) All country

vi) A market in which currencies are exchange is _______.
a) Money Market
b) Capital Market
c) Foreign exchange Market
d) Bond Market

B) Match the Pairs : [5]
      'A' Group       'B' Group

i) Balance of Payment a) International Monitary fund
ii) W.T.O. b) Current and capital Account
iii) Exchange Rate c) Regional organisations
iv) SAARC d) Fixed and flexible Exchange

Rate
v) IMF e) 1995

Q2) What is disequilibrium in Balance of payment? Explain the causes of
disequilibrium in Balance of payment. [15]

Q3) What is Fixed Exchanged Rate? Explain merits and demerits of Fixed Exchange
Rate. [15]

Q4) Explain objectives and functions of World Bank. [15]

Q5) Explain concept, causes and effects of Brain Drain. [15]

Q6) Write Short notes (Any 3) : [15]
a) Convertibility of Rupee.
b) Euro Dollar
c) Labour Migration
d) Foreign capital
e) WTO


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doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) àíZ H«$. 1Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm ©̀ AmhoV.

2) àíZ H«$. 2 Vo àíZ H«$. 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PB-1379

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr 5) [5]
i) ì¶mnmaVmob Am{Y³¶m‘Ü¶o AgVmo Ooìhm .........

A) dñVy§À¶m {Z¶m©VrMo ‘yë¶ Ooìhm Am¶mV ‘wë¶mnojm OmñV AgVo
~) dñV§yMo {Z¶m©V ‘yë¶ Am¶mV ‘yë¶m~amo~a AgVo.
H$) dñV§yMoo {Z¶m©V ‘yë¶ Am¶mV ‘wë¶mnojm H$‘r AgVo.
S>) ^m§S>dbr dñVy§À¶m {Z¶m©VrMo ‘yë¶ Am¶mV ‘yë¶m~amo~a AgVo.

ii) ì¶dhmaVmobmVrb Ag‘Vmob ........... ‘yio Xÿa Ho$bm Omdy eH$Vmo.
A) ZmoQ>~§Xr ~) Ad‘yë¶Z
H$) nwZ‘y©ë¶m§H$Z S>) Kgmam

iii) XoemÀ¶m ì¶dhmaVmobm‘Ü¶o ........... Mm g‘mdoe hmoV Zmhr.
A) Mmby ImVo ~) ^m§S>dbr ImVo
H$) n¡gm ImVo S>) {d{dY ImVo

iv) ........... hm {Z¶m©VrMm AÑí¶ ^mJ Amho.
A) gm°âQ>doAa godm ~) ‘{eZar
H$) gm‘J«r S>) Am¡fYo

v) ~hþamï´>r¶ H§$nÝ¶m§Mo ‘w»¶mb¶ ........... XoemV AgVo.
A) ñdV:À¶m XoemV ~) eoOmaÀ¶m XoemV
H$) ì¶dgm¶ H$m¶©aV XoemV S>) gd© Xoem§V

vi) XmoZ Xoem§‘Yrb MbZm§Mr AmXbm~Xb H$aÊ¶mMr ì¶dñWm AgUmam ~mOma åhUOo
...........
A) ZmUo ~mOma ~) ^m§S>db ~mOma
H$) naH$s¶ {d{Z‘¶ ~mOma S>) amoIo ~mOma

3 P.T.O.
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~) OmoS>çm bmdm. [5]
   "A' JQ>            "~' JQ>

i) ì¶dhmaVmob A) Am§Vaamï´>r¶ ZmUo {ZYr

ii) WTO ~) Mmby Am{U ^m§S>dbr ImVo

iii) {d{Z‘¶ Xa H$) àmXo{eH$ g§KQ>Zm

iv) gmH©$ S>) pñWa Am{U ~XbVo {d{Z‘¶ Xa

v) IMF B) 1995

àíZ àíZ àíZ àíZ àíZ 2) ì¶dhmaVmobmVrb Ag‘Vmob åhUOo H$m¶? ì¶dhmaVmobmVrb Ag‘VmobmMr H$maUo ñnï> H$am.[15]

àíZ àíZ àíZ àíZ àíZ 3) pñWa {d{Z‘¶ Xa åhUOo H$m¶? pñWa {d{Z‘¶ XamMo JwU Xmof ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) ~m¡X²YrH$ {ZñgmaUmMr g§H$ënZm Am{U H$maUo ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) OmJ{VH$ ~±Ho$Mr CXX²rï>¶o Am{U H$m¶©o ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) ê$n¶mMr n[adV©{Z¶Vm

~) ¶wamoS>m°ba

H$) l‘mMo ñWbm§Va

S>) {dXoer ^m§S>db

B) WTO





Q1) a) Define the following terms (Any 5) : [10]

i) Person

ii) Capital Asset

iii) Assesse

iv) Tax deducted at source (TDS)

v) Perquisites

vi) Previous Year

b) Write Short Notes on (Any 2) : [10]

i) Deduction U/S 16

ii) Capital and Revenue Receipts

iii) Short Term Capital Gains

iv) Agricultural Income

Q2) Solve any 2 problems out of 3 : [14]

a) Mr. Sameer, Nashik provide the following salary structure. [7]

i) Basic Salary Rs. 50,000 p.m.

ii) Bonus Rs. 20,000 p.a.

iii) Education Allowance Rs. 480 p.m. (2 children’s)

iv) Commission Rs. 10,000 p.a.

v) House Rent Allowance 13,000 p.m. Rent paid by Mr. Sameer
Rs. 84,000 p.a.
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vi) He has been provided with 2000 CC car along with driver for
both private and official purpose. Expenses is borne by employer.

vii) Employer and his own contribution to the R.P.F. is 14%.

viii) Interest on accumulated balance of R.P.F. @ 13% p.a. is
Rs. 16,000.

ix) He has paid professional Tax @ 2500 p.a.

Compute his net taxable salary income for the A.Y 2024-25 under
old Regime

b) From the following information compute the Income from House
Property of Mr. Ravindra for A.Y.2024-25 from old Tax Regime [7]
Particulars Amount

Municipal Value 3,60,000

Fair Rent 3,70,000

Annual Rent 4,80,000

Municipal Taxes Paid 36,000

Amount spent on repairs 36,000

Period of vacancy 1 month

Interest on capital borrowed (For F.Y.2023-24) 1,80,000

Mr. Ravindra borrowed a loan of 20 lakhs @ 10.5% on 1/7/2021
from SBI for the construction of the house. The construction is
completed on 1st October 2022.

c) Following is the Profit & Loss A/c for the Business of Mr. Ram, Solapur
for the financial year ending on 31.3.2024 [7]

Profit & Loss A/c

Particulars Rs. Particulars Rs.

To Salary 1,20,000 By Gross profit 3,25,000

To Interest on loan 41,500 By Gift from Friend 44,000

To Advertisement 6,500 By Sundry Receipts 18,000

To Fire Insurance 5,000

To Office Exp. 36,000

To Depreciation 50,000

To Net profit 1,28,000

Total 3,87,000 Total 3,87,000
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Other Information :

i) Bank loan is taken for Business purpose.

ii) Depreciation allowed as per Income Tax Rule is Rs.45,000.

iii) Advertisement include Rs.2,500 as expenses for selling household
furniture.

iv) Salary include Rs. 10,500 paid for domestic purpose.

You are required to compute Taxable Income from Business for A. Y.
2024-25 under old Regime.

Q3) Mr. Shriram has given the following information of his incomes and savings
for financial year ending on 31/03/2024. [16]

Particulars Amount

Gross salary 6,34,000

Income from House property 50,000

Income from Business 2,00,000

Interest on Government securities 30,000

Interest on bank Deposits 30,000

Donations paid to National Children Fund 25,000

Donations paid to Government for promotion of family planning 20,000

Deposit in RPF 30,000

LIC Premium paid 50,000

Profession Tax paid 2,700

Deposited Rs 60000 with SBI as Term Deposit Scheme 2006 (Five year
tax saver scheme). Compute his Taxable Income and Tax Liability in old
and New Regime for A.Y. 2024-25.





Total No. of Questions : 3]

[6224]-605
T.Y. B.Com.

364 : AUDITING AND TAXATION - II
(2019 Pattern) (CBCS) (Semester - VI)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 50
gyMZm : 1) gd© àíZ A{Zdm ©̀ Amho.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

PB-1380

àíZ àíZ àíZ àíZ àíZ 1) A) Imbrb g§km n[a^m{fV H$am (H$moUË`mhr nmM) … [10]
i) ì`º$s
ii) ^m§S>dbr _mb_Îmm
iii) H$aXmVm
iv) CJ_ñWmZr H$a H$nmV (TDS)
v) godm gdbVr
vi) _mJrb df©

~) Q>rnm {bhm (H$moUVohr XmoZ) … [10]
i) dOmdQ> U/S 16
ii) ^m§S>db Am{U _hgyb àmár
iii) AënH$mbrZ ^m§S>dbr Z\$m
iv) H¥$fr CËnÞ

àíZ àíZ àíZ àíZ àíZ 2) VrZ n¡H$s H$moUVrhr XmoZ àíZ gmoS>dm … [14]
A) lr. g_ra, Zm{eH$ `m§Zr Imbrb doVZ aMZm àXmZ Ho$bobr Amho. [7]

i) _yi nJma é. 50,000 àVr _{hZm
ii) ~moZg é. 20,000 àVr df©
iii) {ejU ^Îmm é. 480 àVr _{hZm (2 _wbm§ZgmR>r)
iv) H${_eZ é. 10,000 àVr df©
v) Ka ^mS>o ^Îmm é. 13,000 àVr _{hZm lr. g_ra `m§Zr Am{W©H$dfm©V é. 84,000

Ka^mS>o {Xbo Amho.
vi) H§$nZr H$Sy>Z lr. g_ra `m§Zm 2000 grgr H$ma ImOJr Am{U H§$nZr Aem XmoÝhr

dmnamgmR>r MmbH$mgh àXmZ H$aÊ`mV Ambobr Amho. H$maMm gd© IM© H§$nZr H$aV
Amho.

4 P.T.O.
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vii) _mÝ`Vm àmá ^{dî` {Zdm©h {ZYr (R.P.F.) _Ü`o H§$nZr Am{U Ë`mMo ñdV…Mo
`moJXmZ 14% Amho.

viii) _mÝ`Vm àmá ^{dî` {Zdm©h {ZYr (R.P.F.) À`m O_m {eëbH$ aŠH$_oda ì`mO
@13% àVrdf© XamZo én ò 16,000 O_m Amho.

ix) lr. g_ra `m§Zr dm{f©H$ ì`mdgm{`H$ H$a é. 2500 ^abm Amho.

darb _m{hVrÀ`m AmYmao H$ma {ZYm©aU df© 2024-25 gmR>r nJma nmgyZ {_iUmao CËnÞ
OwÝ`m H$ma àUmbr Zwgma emoYm

~) Imbrb _m{hVrdê$Z lr. adrÐ `m§À`m Kam nmgyZ {_iUmao CËnÞ H$a {ZYm©aU df© 2024-25
gmR>r OwÝ`mH$ma àUmbr à_mUo emoYm. [7]

Vnerb aŠH$_

ZJanm{bH$m _yë` 3,60,000

dmOdr ^mS>o 3,70,000

dm{f©H$ ^mS>o 4,80,000

ZJanm{bH$m H$a 36,000

XþéñVrgmR>r IM© 36,000

a{º$H$mbmdYr 1 _{hZm

KoVboë`m H$Om©darb ì`mO (F.Y. 2023-24 gmR>r) 1,80,000

lr. aqdÐ `m§Zr 1/7/2021 amoOr SBI H$Sy>Z 10.5% XamZo é. 20 bmI Ka ~m§YUrgmR>r
H$O© KoVbo. KamMo ~m§YH$m_ 1 Am°ŠQ>mo~a 2022 amoOr nyU© Pmbo Amho.

H$) lram_, gmobmnya `m§À`m Am{W©H$ df© 31.3.2024 gmR>rMo Z\$m VmoQ>m nÌH$ Imbrbà_mUo
Amho. [7]

Z\$m VmoQ>m nÌH$

Vnerb é. Vnerb é.

nJma / doVZ 1,20,000 T>mo~i Z\$m 3,25,000

H$Om©darb ì`mO 41,500 {_ÌmH$Sy>Z ôQ> 44,000

Om{hamV 6,500 BVa CËnÞ 18,000

A¾r {d_m 5,000

H$m`m©bBZ IM© 36,000

Kgmam 50,000

{Zìdi Z\$m 1,28,000

EHy$Z 3,87,000 EHy$Z 3,87,000
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BVa _m{hVr …

i) ~±Ho$Mo H$O© ì`dgm`mgmR>r KoVbo Amho.

ii) àm{áH$a {Z`_mZwgma Kgmam é. 45,000.

iii) Om{hamVr_Ü ò KaJwVr \${Z©MaÀ`m {dH«$sgmR>r IM© åhUyZ é. 2,500 g_m{dï> AmhoV.

iv) nJmamV KaJwVr H$maUmgmR>r {Xbobo é. 10,500 g_m{dï> AmhoV.

darb _m{hVrÀ`m AmYmao OwÝ`m H$a àUmbr Zwgma A. Y. 2024-25 gmR>r ì`dgm`mVwZ
{_iUmao H$anmÌ CËnÞ emoYm.

àíZ àíZ àíZ àíZ àíZ 3) lram_ `m§Mr Am{W©H$ df© 31/03/2024 H$[aVm Ë`m§À`m CËnÞmMr Am{U ~MVrMr _m{hVr
Imbrb à_mUo {Xbr Amho. [16]

Vnerb aŠH$_

nJma nmgyZ {_imbobo T>mo~i CËnÞ 6,34,000

Kam nmgyZ {_imbobo CËnÞ 50,000

ì`dgm`m nmgyZ {_imbobo CËnÞ 2,00,000

gaH$mar amo»`m§darb ì`mO 30,000

~±H$ R>od ì`mO 30,000

amï´>r` ~mbH$ {ZYrbm XoUJr 25,000

gaH$ma Hw$Q>§w~ {Z`moOZ {ZYr XoUJr 20,000

_mÝ`Vm àmá ^{dî` {Zdm©h {ZYr RPF 30,000

Am ẁ{d©_m hám LIC àr{_`_ 50,000

ì`mdgm{`H$ H$a 2,700

SBI _wXV R>od `moOZm  2006  _Ü`o é. 60,000 O_m Ho$bo (5 dfm©gmR>r H$a ~MV `moOZm)
darb _m{hVrÀ`m AmYmao lram_ `m§Mo H$anmÌ CËnÞ d H$a OwÝ`m H$a àUmbr VgoM ZdrZ H$a
àUmbrMm dmna H$ê$Z emoYmdo.





Q1) A) Fill in the blanks by selecting suitable choice (Any five) : [5]

i) Marketing is a process which aims at ________.

a) Production

b) Profit-making

c) The Satisfaction of Customer needs

d) Selling products

ii) Marketing is important to _________.

a) economy b) companies

c) consumers d) all of these

iii) What is the name of the practice of setting prices relatively low
when introducing a new product to the market?

a) Predatory pricing b) Skimming pricing

c) Penetration pricing d) Target costing

iv) The Toyata Corporation which produces several different brands
of cars is an example of __________.

a) Mass Marketing b) Segmented Marketing

c) Niche Marketing d) Micro Marketing
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v) Which of the following has a major influence on pricing decisions?

a) Customer Demand

b) Actions of Competitors

c) Costs

d) Political, legal and image-related issues

vi) ____________ is defined as communication with large numbers
of customers at the same time.

a) Personal Selling b) Sales Incentive

c) Mass Selling d) All of the above

B) Match the following : [5]

Group 'A' Group 'B'

i) Brand a) Promotion Mix

ii) Advertising b) Place Concept

iii) Physical Market c) Small Segment

iv) Niche Marketing d) Symbol, Name, Word or
Combination of them

v) Service e) Includes People, Process &
Physical Evidence

Q2) Write Short Notes (Any two) : [10]
a) Importance of Marketing

b) Evolution of Marketing

c) Objectives of Pricing concept

d) Product Life Cycle

Q3) a) What is ‘Marketing’? Distinguish between Selling and Marketing. [8]
b) What is ‘Market Segmentation’? Explain the methods of Market

Segmentation. [7]

Q4) a) Define the term ‘Pricing’. Explain the factors affecting Pricing. [8]

b) Describe in detail Recent Trends in Marketing. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) `mo½` n`m©̀ mMr {ZdS> H$ê$Z [aH$må`m OmJm ^am. (H$moUË`mhr nmM) … [5]
i) {dnUZ hr EH$ à{H«$`m Amho Á`mMm CÔoe ............ Amho.

A) CËnmXZ H$aUo ~) Z\$m {_idUo
H$) J«mhH$m§À`m JaOm nyU© H$aUo S>) CËnmXZo {dH$Uo

ii) {dnUZ ho .............. gmR>r _hËdmMo Amho.
A) AW©ì`dñWm ~) H§$nÝ`m
H$) J«mhH$ S>) darb gd©

iii) ZdrZ CËnmXZ ~mOmamV AmUVmZm {H$_Vr VwbZooZo H$_r R>odÊ`mÀ`m àWobm H$m`
åhUVmV?
A) bwQ>rÀ`m _mbmMr qH$_V ~) ñH$sq_J qH$_V
H$) àdoe qH$_V S>) bú` IM©

iv) Q>mò mQ>mo H$m°nm}aoeZ Oo doJdoJiçm ~«±S>À`m H$maMo CËnmXZ H$aVo Vo ............... ̀ mMo
CXmhaU Amho.
A) _mg _mH}$qQ>J ~) {d^mJr` {dnUZ
H$) {Ze _mH}$qQ>J S>) gyú_ {dnUZ

v) qH$_VrÀ`m {ZU©̀ mda Imbrbn¡H$s H$moUmMm _moR>m à^md Amho?
A) J«mhH$mMr _mJUr
~) à{VñnÜ`mªÀ`m H¥$Vr
H$) IM©
S>) amOH$s`, H$m`Xoera Am{U à{V^m-g§~§{YV g_ñ`m

3 P.T.O.
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vi) ................ EH$mM doir _moR>çm g§» òZo J«mhH$m§er g§dmX åhUyZ n[a^m{fV Ho$bo
OmVo.

A) d¡̀ {º$H$ {dH«$s ~) {dH«$s àmoËgmhZ

H$) _moR>çm à_mUmda {dH«$s S>) darb gd©

~) OmoS>çm bmdm … [5]

JQ> "A' JQ> "~'

i) ì`mnma {MÝhm§H$Z (~«±S>) A) d¥Õr {_l

ii) Om{hamV ~) ñWmZ g§H$ënZm

iii) ^m¡{VH$ ~mOma H$) N>moQ>m {d^mJ

iv) {Ze _mH©o$qQ>J S>) {MÝh, Zmd, eãX qH$dm Ë`m§Mo
g§̀ moOZ

v) godm B) bmoH$, à{H«$`m Am{U àË`j àË``
`m§Mm g_mdoe Amho.

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr XmoZ) … [10]

A) {dnUZmMo _hÎd

~) {dnUZmMr CËH«$m§Vr

H$) qH$_V g§H$ënZoMr C{Ôï>ço

S>) CËnmXZ OrdZ MH«$

àíZ àíZ àíZ àíZ àíZ 3) A) "{dnUZ' åhUOo H$m`? {dH«$s Am{U {dnUZ `mVrb \$aH$ ñnï> H$am. [8]

~) "~mOmanoR> {d^mJrH$aU' åhUOo H$m`? ~mOmanoR> {d^mJrH$aUmÀ`m nÕVr ñnï> H$am.
[7]

àíZ àíZ àíZ àíZ àíZ 4) A) "qH$_V' `m g§H$ënZoMr ì`m»`m Úm? qH$_V YmoaUmda n[aUm_ H$aUmao KQ>H$ ñnï> H$am.
[8]

~) {dnUZmVrb gÚH$mbrZ àdmhmMo g{dñVa dU©Z H$am. [7]





Q1) A) Fill in the blanks with the most appropriate alternative (Any Five):[5]
i) How many companies are a part of Sensex (Stock Exchange

Sensitive Index)?
a) 20 b) 30
c) 50 d) 100

ii) Headquarter of Bombay Stock Exchange (BSE) is situated at_____.
a) Mumbai b) Delhi
c) Chennai d) Bengaluru

iii) The first computerized stock exchange in India was _________.
a) Bombay Stock Exchange
b) Multi Commodity Exchange
c) National Stock Exchange
d) Over-the-Counter Exchange of India

iv) Life Insurance Company was incorporated on_______.
a) June 1956 b) July 1996
c) June 1966 d) July 1955

v) NAV in mutual funds stands for _______.
a) Net Visibility Value b) Newly Assets Value
c) Net Amount Valuation d) Net Asset Value

vi) IRDAI was constituted as a _______ body to regulate and develop
the Indian Insurance industry.
a) Autonomous b) Private
c) Partnership d) Trust
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B) Match the following : [5]
     Column A        Column B

i) SEBI a) Malhotra Committee
ii) IRDA b) Managed by Fund Manager
iii) Mutual Fund c) Dematerialized Account
iv) De-mat d) NIFTY
v) NSE e) 1988

Q2) Write a short note (any two) : [10]

a) Bombay Stock Exchange.
b) De-mat Account.
c) Distinction between the Bank & NBFI’s.
d) Insurance Regulatory & Development Authority.

Q3) a) What is meant Stock Exchange & Explain function of stock exchange?[8]
b) What are the career opportunities in stock market? [7]

Q4) a) Explain the types of Mutual Fund. [8]
b) Explain the powers of SEBI. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) `mo½` n`m©̀  {ZdSy>Z [aŠV OmJm ^am. (H$moUVohr nmM) [5]
i) goÝgoŠg {ZX}eZH$mV {H$Vr H§$nÝ`m g_m{dï> AmhoV (ñQ>m°H$ EŠgM|O gopÝg{Q>ìh

B§S>oŠg)?
A) 20 ~) 30
H$) 50 S>) 100

ii) ~m°å~o ñQ>m°H$ EŠgM|O (~r Eg B) Mo _w»`mb` ........... òWo Amho.
A) _w§~B© ~) {Xëbr
H$) MoÞB© S>) ~|Jiwê$

iii) ^maVmVrb n{hbo g§JUH$sH¥$V ñQ>m°H$ EŠgM|O ............. ho hmoVo.
A) ~m°å~o ñQ>m°H$ EŠgM|O
~) _ëQ>r H$_mo{S>Q>r EŠgM|O
H$) Z°eZb ñQ>m°H$ EŠgM|O
S>) Amoìha-X-H$mC§Q>a EŠgM|O Am°\$ B§{S>`m

iv) bmB\$ BÝewaÝg H§$nZrMr ñWmnZm .............. amoOr Pmbr.
A) OyZ 1956 ~) Owb¡ 1996
H$) OyZ 1966 S>) Owb¡ 1955

v) å ẁÀ ẁAb \§$S>mVrb EZ E ìhr åhUOo ................
A) {Zìdi Ñí`_mZVm _yë` ~) ZdrZ _mb_Îmm _yë`
H$) {Zìdi aŠH$_ _yë`m§H$Z S>) {Zìdi _mb_Îmm _yë`

vi) ^maVr` {d_m CÚmoJmMo {Z`_Z Am{U {dH$mg H$aÊ`mgmR>r IRDAI Mr ñWmnZm
.......... g§ñWm åhUyZ H$aÊ`mV Ambr.
A) ñdm`Îm ~) ImOJr
H$) ^mJrXmar S>) Q´>ñQ>

3 P.T.O.
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~) OmoS>çm Owidm. [5]

        A JQ>             ~ JQ>

i) go~r A) _ëhmoÌm g{_Vr

ii) Am` Ama S>r E ~) {ZYr ì`dñWmnH$mÛmao ì`dñWm{nV

iii) å ẁÀ ẁAb \§$S> H$) {S>_Q>o[a`bmBÁS> ImVo

iv) S>r-_°Q> S>) NIFTY
v) EZ Eg B NSE B) 1988

àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm. (H$moUË`mhr XmoZ) [10]

A) ~m°å~o ñQ>m°H$ EŠgM|O.

~) {S>_Q>o[a`bmBÁS> ImVo.

H$) ~±H$ Am{U {~Ja ~±H$ {dÎmr` g§ñWm _Yrb \$aH$ gm§Jm.

S>) {d_m {Z`m_H$ Am{U {dH$mg àm{YH$aU.

àíZ àíZ àíZ àíZ àíZ 3) A) ñQ>m°H$ EŠgM|O åhUOo H$m` Am{U ñQ>m°H$ EŠgM|OMo H$m ©̀ ñnï> H$am? [8]

~) eoAa ~mOmamV H$[aAaÀ`m H$moUË`m g§Yr AmhoV ñnï> H$am? [7]

àíZ àíZ àíZ àíZ àíZ 4) A) å ẁÀ ẁAb \§$S>mMo àH$ma ñnï> H$am. [8]

~) go~rMo A{YH$ma ñnï> H$am. [7]





Q1) A) Fill in the blank with the most appropriate alternative (any Five) [5]

i) The first company legislation in India was passed in ____ known
as a Joint Stock Companies Act.

(1840, 1850, 1860)

ii) As per company act Share means share in the share capital of a
Company and includes _______

(Debentures, Bonds, Stocks)

iii) A minimum of  ______ % shareholders can apply to court to prevent
a public company being converted into a private company.

(5%, 10%, 15%)

iv) _______ means an Investigation initiated by the government without
any external complaint.

(forensic investigation, Suo-moto investigation, Intrusion
investigation)

v) On completion of investigation, the SFIO shall submit the
Investigation Report to the _______

(State Government, Registrar, Central Government)

vi) _______is not a principle of good corporate governance.

(Transparency, Accountability, Insider trading)

Total No. of Questions : 4]

[Total No. of Pages : 4

[6224]-608
T.Y. B.Com.

365(C) : BUSINESS LAW & PRACTICE - II
(2019 Pattern) (CBCS) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PB-1383
SEAT No. :

P.T.O.



[6224]-608 2

B) Match the following. [5]
Column A Column B

i) Concept of limited liability a) Minority Shareholders
in India

ii) Unfair Prejudice Petition b) Regulatory authorities or
government agencies

iii) Conducts inspections of a c) Accountability
company’s books and records

iv) Code of Best Practice d) Indian Companies Act, 1913,
v) Principle Of Business Ethics e) Cadbury Committee

Q2) Write a short note (any two) Each short note 5 Marks. [10]
a) Social Responsibilities of Companies
b) Rights of Minority shareholders
c) Duties of Inspector
d) Corporate Governance

Q3) a) What is the historical development of Company Law in India? [8]
b) What are the provisions regarding preventions of oppression and

mismanagement? [7]

Q4)  a) What are the schemes for Compromise and Arrangements? [8]
b) Explain the principles of morality and business ethics? [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË¶mhr 5) [5]
i) ^maVmVrb n{hbm H§$nZr H$m¶Xm .......... ‘Ü¶o g§‘V H$aÊ¶mV Ambm Omo g§¶wº$

ñH§$X à‘§S>i H$m¶Xm åhUyZ AmoiIbm OmVmo.
(1840, 1850, 1860)

ii) H§$nZr H$m¶ÚmZwgma ̂ mJ åhUOo H§$nZrÀ¶m ̂ mJ ̂ m§S>dbmVrb {hñgm, Ë¶mV ..........
g‘m{dï> Amho.
(H$O©amoIo, ~§YnÌo, ^mJgmR>m)

iii) gmd©O{ZH$ H§$nZr ImOJr H§$nZrV énm§VarV hmoD$ Z¶o åhUyZ {H$‘mZ ..........%
^mJYmaH$ Ý¶m¶mb¶mV AO© H$ê$ eH$VmV.
(5%, 10%, 15%)

iv) ............ åhUOo H$moUË¶mhr ~mø VH«$mar{edm¶ gaH$maZo gwê$ Ho$bobr Mm¡H$er.
(’$m°a§o{gH$ Vnmg, gwAmo-‘moQ>mo Vnmg, KwgImoar Vnmg)

v) Vnmg nyU© Pmë¶mda, SFIO ........... bm Vnmg Ahdmb gmXa H$aVo.
(amÁ¶ gaH$ma, Zm|XUr A{YH$mar, H§o$Ð gaH$ma)

vi) .......... ho Mm§Jë¶m H$m°nm}aoQ> JìhZ©ÝgMo VËd Zmhr.
(nmaXe©H$Vm, O~m~Xmar, BZmgmBS>a Q´>oqS>J)

~) `mo½` OmoS>çm Owidm. [5]
   aH$mZm "A'            aH$mZm "~'

i) ^maVmVrb ‘¶m©{XV O~m~XmarMr A) Aëng§»¶mH$ ^mJYmaH$
g§H$ënZm

ii) A¶mo½¶ nyd©J«h ¶m{MH$m ~) {Z¶m‘H$ A{YH$mar qH$dm gaH$mar g§ñWm
iii) H§$nZrÀ¶m nwñVH$m§Mr Am{U Zm|XtMr H$) CÎmaXm{¶Ëd

VnmgUr H$aUo
iv) gdm©oÎm‘ gamd g§{hVm S>) ^maVr¶ H§$nZr H$m¶Xm, 1913
v) ì¶dgm¶ Z¡{VH$VoMo VËd B©) H°$S>~ar g{‘Vr

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) WmoS>³¶mV {Q>nm {bhm.(H$moUË¶mhr 2) [10]
A) H§$nZrÀ¶m gm‘m{OH$ O~m~Xmè¶m

~) Aëng§»¶mH$ ^mJYmaH$m§Mo h¸$

H$) {ZarjH$mMr H$V©ì¶o

S>) H$m°nm}aoQ> JìhZ©Ýg

àíZ àíZ àíZ àíZ àíZ 3) A) ^maVmVrb H§$nZr H$m¶ÚmMo Eo{Vhm{gH$ nwZamdbmoH$Z ñnï> H$am. [8]
~) XS>nemhr Am{U J¡aì¶dñWmnZ amoIÊ¶mgmR>r H$moUË¶m VaVwXr AmhoV? [7]

àíZ àíZ àíZ àíZ àíZ 4) A) VS>OmoS> Am{U ì¶dñWm ¶mgmR>r H$moUË¶m ¶moOZm AmhoV? [8]
~) Z¡{VH$Vm Am{U ì¶mdgm{¶H$ Zr{V‘ÎmoMr VÎdo ñnï> H$am. [7]





Q1) A) Fill in the blanks (Any five) : [5]
i) The focus export marketing is on the ________.

a) manufacturer b) customer
c) price

ii) The Largest marketing federation in India ________.
a) NABARD b) SAFED
c) NAFED

iii) The Head quarter of NAFED is at _________.
a) Mumbai b) Delhi
c) Kolkata

iv) M.A.P.M.C. means ________.
a) Maharashtra Agent produces market committee
b) Maharashtra Agriculture produces market committee
c) Maharashtra Pradesh Adat market committee

v) APMC model Act came into force in _________ year.
a) 1903 b) 1803
c) 2003

vi) APMCS are controlled by ________ government.
a) State b) Central
c) Districts

vii) NAFED is registered under _________.
a) Company Act. b) Multi state society Act.
c) Society Act.
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B) Match the following pairs. [5]
i) Sale of agricultural commodities a) 2003

 outside India
ii) NABARD HQ b) APMC
iii) NAFED Coverage c) Entire country
iv) Agricultural Produce Market d) Export Marketing

Committee Act
v) Agricultural Produce Market e) Mumbai

Committee
f) 2004

Q2) Write short notes (any two) : [10]

a) Progress of NAFED
b) Services Marketing
c) Revolution of cooperative movement
d) Problems of Agricultural Produce Market Committee

Q3) a) Describe in detail the performance of Agricultural Produce Market
Committee. [8]

b) Explain the factor affecting marketing strategy of cooperative. [7]

Q4) a) Describe in detail the performance of NAFED. [8]
b) Explain in detail of the impact on Agricultural marketing. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aŠV OmJm ^am. (H$moUVohr nmM) [5]
i) {Z`m©V {dnUZ ................. da AmYm[aV Amho.

A) {Z_m©Vm ~) J«mhH$
H$) qH$_V

ii) ^maVmVrb gdm©V _moR>o {dnUZ _hmg§K ...............
A) Zm~mS>© ~) gm\o$S>
H$) Zm\o$S>

iii) Zm\o$S>Mo _w»`mb` .............. ̀ oWo Amho.
A) _w§~B© ~) {Xëbr
H$) H$mobH$mVm

iv) M.A.P.M.C. åhUOo .............
A) _hmamï´> EO§Q> ~mOma g{_VrMo CËnmXZ H$aVmo
~) _hmamï´> H¥$fr CËnÝZ ~mOma g{_Vr
H$) _hmamï´> àXoe AS>V ~mOma g{_Vr

v) APMC _m°S>ob H$m`Xm ................. gmbr A§_bmV Ambm.
A) 1903 ~) 1803
H$) 2003

vi) EnrE_grEg ............... gaH$maÛmao {Z §̀{ÌV Ho$bo OmVmV.
A) EH$ amÁ` ~) H|$Ð
H$) {Oëho

vii) Zm\o$S> .............. A§VJ©V Zm|XUrH¥$V Amho.
A) H§$nZr H$m`Xm ~) ~hþ amÁ` ghH$mar H$m`Xm
H$) gmogm`Q>r H$m`Xm

3 P.T.O.
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~) OmoS>çm bmdm. [5]

i) ^maVm~mhoarb H¥${f_mb {dH«$s A) 2003
ii) Zm~mS>© _w»`mb` ~) APMC
iii) Zm\o$S> ì`már H$) g§nyU© Xoe

iv) H¥$fr CËnÝZ ~mOma g{_Vr H$m`Xm S>) {Z`m©V {dnUZ

v) H¥$fr CËnÝZ ~mOma g{_Vr B) _w§~B©

\$) 2004

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) Zm\o$S>Mr àJVr

~) godm {dnUZ

H$) ghH$mar MidirMm CËH«$m§Vr

S>) H¥$fr CËnÝZ ~mOma g{_VrÀ`m g_ñ`m

àíZ àíZ àíZ àíZ àíZ 3) A) H¥$fr CËnÝZ ~mOma g{_VrÀ`m H$m_{JarMo g{dñVa dU©Z H$am. [8]

~) ghH$ma {dnUZ YmoaUmda n[aUm_ H$aUmam KQ>H$ ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) Zm\o$S>À`m H$m_{JarMo g{dñVa dU©Z H$am. [8]

~) H¥$fr {dnUZmdarb n[aUm_mMo Vnerbdma dU©Z H$am. [7]


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Q1) a) Fill in the blanks (Any 5 out of 6) : [5]
i) _____________Clause in a contract calls for a price decrease if

there is a decrease in certain costs.
a) Project b) Cost
 c) Sales d) De-escalation

ii) ______ costing is a method where in the products go through
two or more processes.
a) Process b) Job
c) Service d) Contract

iii) Operating Costing is a method of ascertaining costs of providing
or operating a _______.
a) place b) product
c) service d) contract

iv) A cost-plus contract is one in which the contractor is reimbursed
for the actual costs of a project plus a _______.
a) profit b) loss
c) part d) commission

v) Contract costing, also known as _______ costing.
a) Service b) Process
c) Operating d) Terminal

vi) In contract costing the total loss if any is transferred to _______
a) Trading Account b) Balance sheet
c) Costing profit and loss d) Drawings

P.T.O.
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b) Match the following : [5]
i) Job costing A) Operating costing
ii) Service Costing B) Secondary product
iii) Normal Loss C) Specific order costing
iv) Work Certified D) Cannot be avoided
v) By product E) Portion of work completed and

certified

Q2) Short Notes (Any Two out of Four): [10]
a) Importance of Escalation clause
b) Explain Joint Products
c) Importance of Job Costing
d) Need for Process Costing

Q3) C Ltd. undertook a contact for construction of bridge. The contact price is
Rs.600000. The following is the information relating to the contact during
the year 2022-2023 [15]

Particulars Amt
Materials Purchased and issued 70698
Materials sent to site 100000
Materials returned to stores 1098
Materials at site on 31/03/2023 3766
Labour engaged on site 140000
Wages accrued and due but not paid 8750
Engineers fees 6334
Direct expense payable 580
General overheads 8252
Overheads outstanding 9250
Plant installed at site cost 41500
Erection charges on site for Plant 1250
Scrap value of plant after 5 years 2750
Work certified 390000
Cost of work not certified 9000
Cash received from contractee 360000

Prepare Contract account and contractee’s account. Also show the
amount of profit which you consider might be fairly taken on the
contract and how have you calculated the same
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Q4) The Bharat Chemicals Ltd. produced a product which passes through three
processes during the month. In each process 2% of the total weight put in is
lost and 10% is scrap. In Process I and Process II the scrap realises Rs.100
per ton and from Process III Rs.20 per ton. [15]

Particulars Process I Process II Process III

Materials Used tons 1000 140 1348

Raw Materials consumed Rs. 120000 28000 283620

Manufacturing Wages Rs. 20500 18520 15000

General Overheads Rs. 10300 7240 3100

The product of three processes

are dealt as follows

Passed to next process 75% 50% -

Sent to warehouse for sale 25% 50% 100%

Prepare process accounts showing cost per ton of each process.

OR

From the following data calculate the cost per running mile of River Lines
Transport Co.
Particulars

Mileage run (annual) 6000 miles
Cost of vehicle Rs.150000
Road License (annual) Rs.7500
Annual Insurance Rs.4000
Annual Garage Rent Rs.5420
Supervision and Salaries (annual) Rs.24000
Drivers wages per hour Rs.30
Cost of fuel per liter R.s.20
Miles run per liter 15 miles
Repairs and Maintenance per mile Rs.2
Tyre Allocation Per mile Rs.0.60
Estimated life of vehicle 75000 miles

Charge interest at 15% on the cost of vehicle. The vehicle runs 20 miles per
hour on an average.


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Q1) Attempt the following: [5 × 1 = 5]
A) Choose the correct alternative of the following (any Five).

i) If Z ~ N (0, 1), then P(Z < 0) = P(Z > 0) =?
a) 1 b) 0
c) 0.5 d) 0.75

ii) Testing H0 : = 50 against HI :    50 is a
a) one sided left tailed test b) one sided right tailed test
c) two sided test d) both a and b

iii) Let X   N(300,25) then standard deviation is
a) 300 b) 12
c) 25 d) 5

iv) We want to test H0: Two attributes A and B are independent
and both the attributes are at three levels. Then under H0, the
statistic used is

a) 2
2 b) 2

4

c) 2
3 d) 2

1
v) Paired t-test was applied to 13 observations {(Xi,yi) ; i =

l,2,3,...,13}. In this case the distribution of test statistic under
null hypothesis H0 : d = 0 is t-distribution with _____
degrees of freedom.
a) 13 b) 12
c) 26 d) 24

P.T.O.
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vi) The _______ sum of squares measures the variability of the
observed values around their respective block means.

a) Error b) Total

c) Treatment d) block
vii) Analysis of variance is a statistical method of comparing

the_______ of several populations.
a) Standard deviations b) Variances
c) Means d) Proportions

B) State whether the following statements are true or false
[5 × 1 = 5]

i) Level of significance cannot be made zero.
ii) In simple random sampling without replacement, drawn unit after

recording is replaced in population before next draw.
iii) Type I error is rejecting H0 when it is true
iv) Long form of ANOVA Analysis of variance.
v) Large sample tests are used when n less than 30

Q2) Write short note (any two) [10]
a) Systematic Sampling
b) One Way Classification
c) Type I error and Type II error
d) Chi-square test of goodness of fit for population.

Q3) A) a) If X ~ N(0,1) then find: [4]
i) P(X > 1.3) ii) P(0 < X < 1.3)
iii) P(X < 1 .3) iv) Mean and Variance

b) A random sample of 90 adults is classified according to gender
and the number of hours they watch television during a week:

[4]
Hours spent in Gender

watching TV Male Female

Over 15 hours 15 29

Below 15 hours 27 19

Examine whether the time spent watching television is independent of
whether the viewer is male or female. Use 5% level of significance.
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B) a) Fill in the blanks of the following ANOVA tables marked “–“

Source of Degrees of Sum of Mean Sum of Variance

variation freedom squares squares Ratio

Between

Salesman 4 45 - -

Between

Months 3 91 - -

Error 8 80 -

Total 15 216

Test the homogeneity of machine types and workers. Use 5% level
of significance [4]

b) In a sample of 10 observation, the sample mean square is
s12 = 94.5, In another sample of 8 observation, the sample mean
square is s22 = 101.7. Use F- test to test whether the populations
from which the two samples are drawn have same variances or
not at 10% level of significance. (Given: F7,9,0.05 = 3.29) [3]

Q4) A) a) Derive the Properties of Normal Distribution. [4]

b) The price of a popular tennis racket at a national chain store is
$179. Portia bought five of the same racket at an online auction
site for the following prices:

155, 179, 175, 175, 161 .Assuming that the auction prices of
rackets are normally distributed, determine whether there is
sufficient evidence in the sample, at the 5% level of significance,
to conclude that the average price of the racket is less than $179 if
purchased at an online auction. [4]

B) a) In a population of size 5 the values are 4, 3, 5, 7,10. Draw all
possible sample of size 2 using SRSWOR. Verify that sample
mean is an unbiased estimator of population mean [4]

b) Define Standard Normal distribution, also state any two properties
of normal distribution Solve the following: [3]
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i) The mean mathematics SAT score in 2012 was 514 with a
standard deviation of 117 (‘Total group profile,” 2012).
Assume the mathematics SAT score is normally distributed.

a) Find the probability that a person has a mathematics
SAT score over 700.

b) Find the probability that a person has a mathematics
SAT score between a 500 -  650 a.

ii) Random samples of size 225 are drawn from a population
with mean 100 and standard deviation 20. Find the mean
and standard deviation of the sample mean.





Q1) A) Fill in the blanks (Attempt any five) [5]
i) A ________ is a formal written document containing the goals of a

business.

a) Financial Plan

b) Price Plan

c) Business Plan

ii) _____ is the limit of investment for small enterprises.

a) One Crore

b) Five Crore

c) Ten Crore

iii) ERM stand for ________.

a) Enterprise Revenue Management

b) Enterprise Risk Management

c) Environment Risk management

iv) A business plan is essential for _________

a) Production

b) Human Resource

c) An Entrepreneur
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v) Revival schemes of sickness the Government of India has setup a
Statutory Body named ______.

a) BIFR

b) FEMA

c) MRTP

vi) _______ crises are related to natural crises.

a) Earthquake

b) Illness

c) Financial

B) Match the following. [5]
i) Business Plan a) Vijay Sharma
ii) Urban Ladder b) Lack of Finance
iii) Paytm c) 2012
iv) Daily hunt d) Executive Summary
v) Industrial Sickness e) Virendra Gupta

Q2) Write Short Notes (Attempt Any Two) : [10]

a) Marketing Aspect of Business Plan.

b) Growth Phase Management.

c) Creativity and Innovation.

d) Advantages of Start-up.

Q3) a) What is Business Plan? Explain the Various Steps in Business Plan. [8]

b) Explain the Challenges in Implementation of Enterprise Risk Management
(ERM). [7]

Q4) a) Explain the Features of Turnaround Strategy of Sickness. [8]

b) Explain the Do’s and Don’ts of Start-Up. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) .......... ho EH$ Am¡nMm[aH$ {b{IV XñVEodO Amho, Á`m_Ü ò ì`dgm`mMr C{Ôï>o
AgVmV.

A) {dÎmr` `moOZm

~) qH$_V `moOZm

H$) ì`dgm` ̀ moOZm

ii) bKwCnH«$_mgmR>r é. ........ hr Jw§VdUwH$sMr _`m©Xm Amho.

A) EH$ H$moQ>r

~) nmM H$moQ>r

H$) Xhm H$moQ>r

iii) B©.Ama.E_ åhUOo ........ hmò .

A) EÝQ>aàmBP aoìhoÝ ỳ _°ZoO_|Q>

~) EÝQ>aàmBP [añH$ _°ZoO_|Q>

H$) EÝìhm`a_|Q> [añH$ _°ZoO_|Q>

iv) ì`dgm` ̀ moOZm ........ gmR>r Amdí`H$ Amho.

A) CËnmXZ

~) _mZd g§gmYZ

H$) EH$ CÚmoOH$

P.T.O.
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v) AmOmamÀ`m nwZé‚mrdZ ̀ moOZm§gmR>r ̂ maV gaH$maZo ................. ZmdmMr d¡Ym{ZH$
g§ñWm ñWmnZ Ho$br Amho.

A) BIFR

~) FEMA

H$) MRTP

vi) .......... g_ñ`m Z¡g{J©H$ g_ñ òer g§~§{YV Amho.

A) ^yH§$n

~) AmOma

H$) Am{W©H$

~) OmoS²>`m bmdm. [5]
i) ì`dgm` ̀ moOZm A) {dO` e_m©

ii) A~©Z b°S>a ~) {dÎmmMm A^md

iii) noQ>rE_ H$) 2012
iv) S>obr h§Q> S>) H$m ©̀H$mar gmam§e

v) Am¡X²̀ mo{JH$ AmOma B) dra|Ð Jwám

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]
A) ì`dgm` `moOZoMo {dnUZ n¡by

~) dmT>rÀ`m Q>ßß`mMo ì`dñWmnZ

H$) gO©ZerbVm Am{U Zd{Z{_©Vr

S>) ñQ>mQ>©-AnMo \$m`Xo

àíZ àíZ àíZ àíZ àíZ 3) A) ì`dgm` `moOZm åhUOo H$m`? ì`dgm` `moOZoVrb {d{dY nm`è`m ñnï> H$am. [8]

~) EÝQ>aàmBP [añH$ _°ZoO_|Q> (B.Ama.E_) À`m A§_b~OmdUrVrb AmìhmZo ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) AmOmanUmÀ`m nwZ…ñWmnZ YmoaUmMr d¡{eï²> ò ñnï> H$am. [8]

~) ñQ>mQ>©-An B§{S>`mgmR>r H$m` H$amdo Am{U H$ê$ Z ò ho ñnï> H$am. [7]





Q1) A) Choose the correct option from the given options and write the
answer (Any 5) : [5]

i) __________ involves Promoting a business product in worldwide
market.

a) Global Marketing b) National Marketing

c) Local Marketing d) None of the above

ii) _________ marketing covers the services involved in moving an
agricultural product.

a) Agriculture b) Global

c) National d) None of the above

iii) Patent is one of the ________.

a) Prestige b) Property

c) Intellectual Property d) None of the above

iv) Rights of consumer are protected under _________.

a) Consumer protection 1986

b) Consumer protection 1990

c) Consumer protection 1982

d) Consumer protection 1991
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v) Patent Act was passed in the year:
a) 1932 b) 1970
c) 1972 d) 1986

vi) Which of the following is incorrect about digital marketing?
a) Digital marketing can only be done offline
b) Digital marketing cannot be done offline.
c) Digital marketing requires electronic devices for promoting

goods and services.
d) In general, digital marketing can be understood as online

marketing, web marketing, and e-mail marketing.
B) Match the following : [5]

i) Market Regulation a) National Marketing
ii) Global Marketing Strategy b) Language and cultural barriers
iii) Cyber security marketing c) Control Fraud
iv) Limitations of global strategy d) Worldwide market
v) Digital Marketing e) Expand a business across the

World
f) Protects Personal Information

Q2) Write Short Notes (Any two) : [10]
a) Elements of Global Marketing.
b) Need of Cyber Security Marketing.
c) Competition Act 2002
d) Agricultural Marketing

Q3) a) Explain the various Functions in the agricultural marketing system.
[8]

b) Explain the importance of Consumer Protection Act 1986. [7]

Q4) a) Explain the Factors affecting global marketing. [8]
b) What are the essentials to develop Cyber security marketing strategies?

[7]


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àíZ àíZ àíZ àíZ àíZ 1) A) {Xboë`m n`m©̀ m n¡H$s `mo½` n`m©̀  {ZdSy>Z CÎma {bhm. (H$moUË`mhr nmM) … [5]

i) .............. _Ü ò OmJ{VH$ ~mOmamV ì`dgm` CËnmXZmMm àgma H$aUo g_m{dï>
Amho.

A) OmJ{VH$ {dnUZ ~) amï´>r` {dnUZ

H$) ñWm{ZH$ {dnUZ S>) darb n¡H$s Zmhr

ii) ................. {dnUZm _Ü ò H¥${f dñVy Zo-AmU H$aUmè`m godm§Mm g_mdoe hmoVmo.

A) H¥$fr ~) OmJ{VH$

H$) amï´>r` S>) darb n¡H$s Zmhr

iii) noQ>§Q> ho EH$ .................. Amho.

A) _`m©Xm ~) _mb_Îmm

H$) ~w{Õ_Îmm g§nÎmr S>) darb n¡H$s Zmhr

iv) Cn^moº$m A{YH$mam§Mr g§ajUo ................ H$m`Úm A§VJ©V Ho$br OmVo.

A) Cn^moº$m g§ajU 1986 ~) Cn^moº$m g§ajU 1990

H$) Cn^moº$m g§ajU 1982 S>) Cn^moº$m g§ajU 1991

v) noQ>§Q> A{Y{Z`_ H$m`Xm H$moUË`m dfmªV Omhra Pmbm.

A) 1932 ~) 1970

H$) 1972 S>) 1986

3 P.T.O.
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vi) Imbrbn¡H$s H$moUVo {dYmZ {S>{OQ>b _mH}$qQ>J {df`r A`mo½` Amho?

A) {S>{OQ>b _mH}$qQ>J \$º$ Am°\$bmBZ Ho$br OmD$ eH$Vo.

~) {S>{OQ>b _mH}$qQ>J Am°\$bmBZ Ho$br OmD$ eH$V Zmhr.

H$) {S>{OQ>b _mH}$qQ>JgmR>r BboŠQ´>m°{ZH$ {S>ìhmBgog dmnaUo JaOoMo Amho.

S>) gm_mÝ`V… {S>{OQ>b _mH}$qQ>Jbm Am°ZbmBZ _mH}$qQ>J, do~ _mH}$qQ>J, Am{U
B©-_ob _mH}$qQ>J åhUyZ g_Oy eH$Vm.

~) `mo½` OmoS>çm Owidm … [5]

i) ~mOma {Z`_Z A) amï´>r` {dnUZ

ii) OmJ{VH$ {dnUZ YmoaU ~) ^mfm Am{U gm§ñH¥${VH$ AS>Wio

iii) gm`~a gwajm {dnUZ H$) \$gdUyH$ {Z §̀ÌU

iv) OmJ{VH$ YmoaUmÀ`m _`m©Xm S>) OJ^amVrb ~mOmanoR>

v) {S>{OQ>b _mH}$qQ>J B) OJ^amV ì`dgm`mMm {dñVma H$am

\$) d¡̀ {º$H$ _m{hVrMo g§ajU H$aVo

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr XmoZ) … [10]

A) OmJ{VH$ {dnUZmMo KQ>H$

~) gm`~a gwajm {dnUZmMr JaO

H$) ñnYm© H$m`Xm 2002

S>) H¥$fr {dnUZ

àíZ àíZ àíZ àíZ àíZ 3) A) H¥$fr {dnUZ nÕVrVrb {d{dY H$m ©̀ ñnï> H$am. [8]

~) J«mhH$ g§ajU H$m`Xm 1986 Mo _hËd ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) OmJ{VH$ {dnUZmda n[aUm_ H$aUmao KQ>H$ ñnï> H$am. [8]

~) gm`~a gwajm {dnUZ YmoaU {dH${gV H$aÊ`mÀ`m Amdí`H$Vm gm§Jm. [7]





Q1) A) Fill in the blanks. (Attempt any 5 out of 6) [5]
i) The Farm bill in India was passed in the year _______

(2018, 2001, 2004, 2020)
ii) The manufacturing policy promotes the production within the

country called ________
(Make in India, Made for India, Made for China, Made in Foreign
country)

iii) MGNREGA is a Scheme adopted for _______ in India.
(Entrepreneurs, Small Farmers, Artisans, Unemployed labor)

iv) FPO Policy is initiated for the benefits of _______
(Farmers, Industrialist, Bankers, Teachers)

v) The ______ dispute have negative impact on industrial production.
(Natural, Industrial, Agricultural, Educational)

vi) The National Intellectual Property Rights Policy implemented in the
year ______
(2014, 2002, 2023, 2016)

B) Match the following: [5]

i) Low wages a) Virus

ii) A Company owned by Farmers b) Feature of Agricultural labor

iii) Innovative Industrial Concept c) 2011

iv) National manufacturing Policy d) FPO

v) Corona e) Start-up
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Q2) Write a short note (Any 2 out of 5) : [10]

i) Causes of Industrial Conflict

ii) Importance of Water management in Agriculture.

iii) Status of Agricultural labor

iv) Economic Characteristics of Agricultural Labor

v) Start-Up India

Q3) a) Explain the Impact of climate change on Indian agriculture. [8]

b) Describe the need of Farmers producer company. [7]

Q4) a) Explain the Types of Agricultural labor. [8]

b) Describe the measure for solving the problems of agricultural labor. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË¶mhr 5) [5]
i) H¥$fr {dYo¶H$ .......... ‘Ü¶o g§‘V H$aÊ¶mV Ambo.

(2018, 2001, 2004, 2020)
ii) Xoem§VJ©V CËnmXZmg MmbZm XoUmè¶m {d{Z‘m©U YmoaUmg ........... Ago åhUVmV.

(‘oH$ BZ B§{S>¶m, ‘oS> ’$m°a B§{S>¶m, ‘oS> ’$m°a MrZ, ‘oS> BZ ’$m°aoZ H§$Q´>r)
iii) MGNREGA {h ¶moOZm ^maVm‘Ü¶o ........... gmR>r A§‘bmV AmUbr OmVo.

(g§¶moOH$, bhmZ eoVH$ar, H$mamJra, ~oamoOJma ‘Oya)
iv) FPO  YmoaU ........... À¶m ’$m¶ÚmgmR>r gwê$ H$aÊ¶mV Ambo Amho.

(eoVH$ar, CÚmoOH$, ~±H$a, {ejH$)
v) ........... g§Kf© hm Am¡Úmo{JH$ CËnmXZmda ZH$mamË‘H$ à^md nmS>Vmo.

(Z¡g{J©H$, Am¡Úmo{JH$, H¥$fr, e¡j{UH$)
vi) amï´>r¶ ~m¡pÕH$ g§nXm A{YH$ma YmoaU ............ ¶mdfr© A§‘bmV AmUbo Jobo.

(2014, 2002, 2023, 2016)
~) `mo½` OmoS>çm bmdm. [5]

i) Aën doVZ A) {dfmUy
ii) eoVH$è¶m§À¶m ‘mbH$sMr H§$nZr ~) H¥$fr ‘Owam§Mo d¡{eï²>¶
iii) eoV‘Owam§Mr gÚpñWVr H$) 2011
iv) amï´>r¶ {d{Z‘m©U YmoaU S>) FPO
v) H$moamoZm B©) ñQ>mQ>© An

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm.(H$moUË¶mhr XmoZ) [10]

i) Am¡Úmo{JH$ g§Kfm©Mr H$maUo

ii) H¥$fr joÌmVrb Ob ì¶dñWmnZmMo ‘hÎd

iii) eoV‘Owam§Mr gÚpñWVr

iv) eoV‘Owam§Mo Am{W©H$ d¡{eï²>¶

v) ñQ>mQ>© An B§{S>¶m

àíZ àíZ àíZ àíZ àíZ 3) A) hdm‘mZ ~XbmMm ^maVr¶ eoVrdarb n[aUm‘ ñnï> H$am. [8]

~) eoVH$ar CËnmXH$ H§$nÝ¶m§Mr JaO {deX H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) eoV‘Owam§Mo àH$ma ñnï> H$am. [8]

~) eoV‘Owam§À¶m g‘ñ¶m§darb Cnm¶ ¶moOZm {deX H$am. [7]





Q1) Attempt any five of the following : [5 × 2 = 10]

a) Define defence management.

b) Write the full form of DRDO

c) What is logistic management?

d) What is decision making?

e) Define ‘Strategic’ Drones.

f) Define non military organisation.

Q2) Attempt any four of the following : [4 × 5 = 20]

a) Logistic management

b) India’s hypersonic projects

c) Ministry of defence

d) Military organisation

e) Transfer of Technology
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Explain about Electric Propulsion Technology.

b) State principles of non military organisation.

c) State principles of military organisation.

d) Explain types of military organisation.

e) State the Organisational aspects of decision making.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) Explain in detail decision making in Indian armed forces

b) Explain in detail problems of prospectus of arms production in India.

c) Explain in detail Major Defence Collaboration in Work to Manufacture
Sophisticated, Modern Equipment in India.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVohr nmM àý gmoS>dm. [5 × 2 = 10]

A) g§ajU ì`dñWmnZ ì`m»`m H$am.

~) DRDO Mo nyU© ñdê$n {bhm.

H$) nwadR>m ì`dñWmnZ åhUOo H$m`?

S>) {ZU©̀  à{H«$`m åhUOo H$m`?

B) "ñQ´>°Q>o{OH$' S´>moZMr ì`m»`m H$am.

\$) {~Ja bîH$ar g§KQ>Zm ì`m»`m Úm.

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) nwadR>m ì`dñWmnZ

~) ^maVmMo hm`nagm°{ZH$ àH$ën

H$) g§ajU _§Ìmb`

S>) bîH$ar g§KQ>Zm

B) V§ÌkmZmMo hñVm§VaU

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr Mma àý gmoS>dm. [4 × 5 = 20]

A) BbopŠQ´>H$ àmonëeZ V§ÌkmZ ñnï> H$am.

~) {~Ja bîH$ar g§KQ>ZoMr _wbVÎdo gm§Jm.

H$) bîH$ar g§KQ>ZoMr _ybVÎdo gm§Jm.

S>) bîH$ar g§KQ>ZoMo àH$ma ñnï> H$am.

B) {ZU©̀  à{H«$ òVrb g§KQ>ZmË_H$ KQ>H$ gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àý gmoS>dm. [2 × 10 = 20]

A) ^maVr` goZmXbmVrb {ZU©̀  à{H«$`m g{dñVa ñnï> H$am.

~) ^maVr` goZmXbm§gmR>rÀ`m g§ajU CËnmXZmVrb g_ñ`m g{dñVa ñnï> H$am.

H$) ^maVmVrb AË`mYw{ZH$, AmYw{ZH$ CnH$aUo V`ma H$aÊ`mÀ`m H$m_mVrb à_wI g§ajU
ghH$m`m©Mo Vnerbdma dU©Z H$am.





Q1) A) Multiple Choice Questions (Attempt any 5 out of 7) : [5]
i) What term refers to a tour operator who specializes in organizing

tours for a specific niche or interest group?
a) General tour operator
b) Specialized tour operator
c) Inbound tour operator

ii) What is the primary responsibility of a tour operator?
a) Selling individual travel components
b) Creating package tours
c) Handling reservations for airlines

iii) What is a key factor that influences tourists’ choice of
transportation modes?
a) Weather conditions
b) Safety
c) Local cuisine

iv) Which mode of transport is the fastest growing means of long-
distance tourist travel?
a) Rail transport
b) Road transport
c) Air transport

v) What does IATA represent?
a) International Airlines and Travel Agencies
b) International Air Transport Association
c) Indian Airlines and Tourism Authority
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vi) How does tourism impact transportation demand?
a) It has no effect on transportation demand.
b) It decreases the need for transportation services.
c) It leads to an increase in transportation demand

vii) What is one of the essential functions of a tour operator?
a) Marketing travel products
b) Making reservations for hotels
c) Planning and organizing tours

B) Match the following : [5]
i) IATO a) Regulates the travel industry in

India.
ii) TAAI b) National apex body of the tourism

industry
iii) ITDC c) Represents and serves airlines

globally.
iv) UNWTO d) Operates under the Ministry of

Tourism, Government of India
v) IATA e) Serves as a global forum for

tourism policy issues
f) Sets global standards for civil aviation

Q2) Write short notes (Any 2 out of 4) : [10]
a) Career in Tourism Business in India
b) Tourism and Transport - the interrelationship
c) Functions of ITDC
d) Types of Accommodation

Q3) a) State the factors influencing Tourist Transport Selection. [8]
b) State the functions of Tour Operator. [7]

Q4) a) Explain the role of hotels in accommodating travellers. [8]
b) State the functions of IATA. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) `mo½` n`m©̀  {ZdS>m (gmV n¡H$s H$moUVohr nmM) … [5]
i) Qy>a Am°naoQ>abm H$moUVm eãX g§X{ ©̂V H$aVmo Omo EImÚm {d{eï> qH$dm AmdS>rÀ`m

JQ>mgmR>r ghbr Am`mo{OV H$aÊ`mV _m{ha Amho?
A) OZab Qy>a Am°naoQ>a
~) {deof Qy>a Am°naoQ>a
H$) BZ~mC§S> Qy>a Am°naoQ>a

ii) Qy>a Am°naoQ>aMr àmW{_H$ O~m~Xmar H$m` Amho?
A) d¡̀ {º$H$ àdmg KQ>H$m§Mr {dH«$s
~) Qy>an°Ho$O V`ma H$aUo
H$) {d_mZ H§$nÝ`m§Mo AmajU hmVmiUo

iii) n`©Q>H$m§À`m dmhVwH$sÀ`m gmYZm§À`m {ZdS>rda n[aUm_ H$aUmam _hÎdmMm KQ>H$
H$moUVm Amho?
A) hdm_mZmMr pñWVr
~) gwa{jVVm
H$) ñWm{ZH$ nmH$H¥$Vr

iv) bm§~ nëë`mÀ`m n ©̀Q>Z àdmgmMo gdm©V doJmZo dmT>Umao dmhVwH$sMo gmYZ H$moUVo
Amho?
A) aoëdo dmhVyH$
~) añVo dmhVyH$
H$) hdmB© dmhVyH$

3 P.T.O.
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v) Am`EQ>rE (IATA) H$m` Amho.
A) B§Q>aZ°eZb EAabmBÝg Am{U Q´>°ìhb EOÝgr
~) B§Q>aZ°eZb EAa Q´>mÝgnmoQ>© Agmo{gEeZ
H$) B§{S>`Z EAabmBÝg A±S> Qw>[aP_ AWm°[aQ>r

vi) n ©̀Q>ZmMm dmhVwH$sÀ`m _mJUrda H$gm n[aUm_ hmoVmo?
A) dmhVwH$sÀ`m _mJUrda Ë`mMm H$moUVmhr n[aUm_ hmoV Zmhr.
~) `m_wio dmhVyH$ godoMr JaO H$_r hmoVo.
H$) `m_wio dmhVwH$sÀ`m _mJUrV dmT> hmoVo.

vii) Qy>a Am°naoQ>aMo _hËdmMo H$m ©̀ H$m` Amho?
A) Q´>°ìhb CËnmXZm§Mo {dnUZ
~) hm°Q>obgmR>r AmajU H$aUo
H$) ghbtMo {Z`moOZ d Am`moOZ

~) OmoS>çm Owidm … [5]
i) Am`EQ>rAmo A) ^maVmVrb Q´>°ìhb CÚmoJmMo {Z`_Z H$aVo
ii) Q>rEEAm` ~) n ©̀Q>Z CÚmoJmMr amï´>r` {eIa g§ñWm
iii) Am`Q>rS>rgr H$) OmJ{VH$ ñVamda {d_mZ H§$nÝ`m§Mo à{V{Z{YËd

Am{U godm XoVo
iv) ỳEZS>ãë ỳQ>rAmo S>) ^maV gaH$maÀ`m n ©̀Q>Z _§Ìmb`m§VJ©V H$m ©̀aV

Amho
v) Am`EQ>rE B) n ©̀Q>Z YmoaUmÀ`m _wÔ`m§gmR>r OmJ{VH$ _§M åhUyZ

H$m ©̀ H$aVo
\$) ZmJar hdmB© dmhVwH$sgmR>r OmJ{VH$ _mZHo$

{ZpíMV H$aUo

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (Mma n¡H$s H$moUË`mhr XmoZ) … [10]
A) ^maVmVrb n ©̀Q>Z ì`dgm`mVrb H$[aAa
~) n ©̀Q>Z Am{U dmhVyH$ - Am§Vag§~§Y
H$) ITDC Mr H$m }̀
S>) {ZdmgmMo àH$ma

àíZ àíZ àíZ àíZ àíZ 3) A) n ©̀Q>H$ dmhVyH$ {ZdS>rda n[aUm_ H$aUmao KQ>H$ gm§Jm. [8]
~) Qy>a Am°naoQ>aMr H$m }̀ ñnîQ> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) àdmem§Zm gm_mdyZ KoÊ`mgmR>r hm°Q>oëgMr ŷ{_H$m g_OmdyZ gm§Jm. [8]
~) IATA Mr H$m ©̀o gm§Jm. [7]





Q1) A) Fill in the Blanks : [5]
i) _________ is the practice of protecting information by mitigating

information risks.
a) Information security b) Protection rules
c) Protocols d) Breach

ii) A _________ is a malicious act that aims to corrupt or steal data
or disrupt an organization’s systems or the entire organization.
a) Crime b) Security threat
c) Penalty d) Cyber corruption

iii) A learning system based on formalised teaching but with the help of
electronic resources is known as ______.
a) E-Shopping b) E-Commerce
c) E-Banking d) E-Learning

iv) _________ is a type of e-banking service which allows you to do
several financial and non-financial transactions through the internet.
a) Internet Banking b) E-Shopping
c) E-Commerce d) Mobile computing

v) __________ is the practice of defending computers, servers, mobile
devices, electronic systems, networks, and data from malicious
attacks.
a) Cyber security b) Cyber hacking
c) Cyber crime d) Cyber attacks
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B) Match the following : [5]
i) Digital Cash a) Network security device
ii) TCP/IP b) Google
iii) Virus c) E Currency
iv) Firewall d) Communications protocol
v) Search engine e) Malicious software

Q2) Short Notes (Any 2 out of 4) : [10]
a) Goals for security
b) Components of wireless networks
c) Firewalls
d) Role of Digital Marketing

Q3) a) Explain Information security and need for Information security. [8]

b) Explain in detail various applications of E-Commerce. [7]

Q4) a) What is Online Marketing? Explain its advantages. [8]
b) What is E-Banking? Is it safe to use E-Banking? [7]


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Q1) A) Multiple choice Questions (Answer any five) [5]

a) –––––– is the process by which raw materials and other inputs are
converted into finished goods.

i) Inventory ii) Logistics

iii) Production iv) Supply Chain

b) –––––– type of layout is also called as functional layout.

i) Process ii) Product

iii) Line iv) Matrix

c) Six sigma is applicable to –––––– .

i) Finance ii) Supply Chain

iii) Health care iv) All of the above

d) 3-PL stands for

i) Three Points Logistics ii) Third Party Logistics

iii) Three Points Location iv) None of the above

e) A production manager is also responsible for maintaining a specific
–––––– of the product.

i) Quality ii) Size

iii) Price iv) Ability

P.T.O.
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f) Transportation cost mainly depends on –––––– factors.

i) Distance

ii) Weight of merchandise

iii) Time required for transportation
iv) All of the above

B) Match the following (Any five). [5]
Group A Group B

i) JIT a) Economic Order Quantity
ii) Radio Frequency Identification b) Logistic Procedure
iii) Programming c) Analytical management tool
iv) E.O.Q. d) Father of scientific management
v) Cross Docking e) Technique of Production

Control
vi) ABC Analysis f) Recent trend in Inventory

management
vii) F.W. Taylor g) Just in Time

Q2) Write short notes on (Any two) : [10]
a) Importance of Plant Location
b) Objectives of Production Control
c) Use of computer in Inventory management
d) Modes of Transportation

Q3) a) What are the functions of Production management? [8]
b) Explain the techniques of Plant layout. [7]

Q4) a) Write the features of Quality management. [8]
b) Explain the objectives of supply chain management. [7]


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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) ~hþn¶m©¶r àíZ gmoS>dm. (H$moUVohr nmM) [5]

i) ........... ¶m à{H«$¶oV H$À¶m ‘mb Am{U BVa gm‘J«r ¶m§Mo n³³¶m ‘mbmV énm§Va hmoVo.

A) ‘mbgmR>m ~) bm°{OpñQ>³g

H$) CËnmXZ S>) {dVaU gmIir

ii) ............ hm ¶§ÌHw$bmMm àH$ma H$m¶m©Ë‘H$ ¶§ÌHw$b åhUyZ AmoiIbm OmVmo.

A) à{H«$¶m ~) CËnmXZ

H$) bmB©Z S>) ‘°{Q´>³g

iii) {g³g {g½‘m hm ............ ¶oWo bmJy hmoVmo.

A) {dÎm ~) {dVaU gmIir

H$) Amamo½¶godm S>) darbn¡H$s gd©

iv) 3-PL åhUOo .............

A) VrZ q~Xÿ bm°{OpñQ>³g ~) V¥{V¶ nj bm°{OpñQ>³g

H$) VrZ {~§Xy ñWmZ S>) H$moUVohr Zmhr

v) CËnmXZ ì¶dñWmnH$ hm CËnmXZmMr {d{eð> ........... amIÊ¶mgmR>r O~m~Xma AgVmo.

A) XOm© ~) AmH$ma

H$) qH$‘V S>) j‘Vm

PB1393
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vi) dmhVyH$ IM© ho àm‘w»¶mZo ............. KQ>H$m§da Adb§~yZ AgVmV.

A) A§Va ~) ‘mbmMo dOZ

H$) ìmmhVwH$sbm bmJUmam doi S>) darbn¡H$s gd©

~) OmoS>çm bmdm. (H$moUË¶mhr nmM) [5]
JQ> A JQ> ~

i) Oo Am¶ Q>r A) ‘mJUrMo Am{W©H$ J{UV
ii) ao{S>Amo {’«$¹o$Ýgr AmoiI ~) bm°{OpñQ>³g à{H«$¶m
iii) àmoJ«°q‘J H$) {díbofUmË‘H$ ì¶dñWmnZ gmYZ
iv) E.O.Q. S>) emór¶ ì¶dñWmnZmMm OZH$
v) H«$m°g S>m°H$s¨J B) ì¶dñWmnZ {Z¶§ÌUmMo V§Ì
vi) A.B.C. A°Ý¶m{bgrg ’$) ‘mbgmR>m ì¶dñWmnZmVrb AmYw{ZH$ àdmh
vii) E’²$. S>ãë¶y. Q>oba ¶) OñQ> BZ Q>mB©‘

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) ¶§ÌHw$b ñWmZ{Z{YVrMo ‘hËd
~) CËnmXZ {Z¶§ÌUmMr C{Ôï>o
H$) ‘mbgmR>m ì¶dñWmnZmV g§JUH$mMm dmna
S>) dmhVwH$sMr gmYZo

à.à.à.à.à.3) A) CËnmXZ ì¶dñWmnZmMr H$m¶} {bhm. [8]
~) ¶§ÌHw$b nÕVrMr V§Ìo {bhm. [7]

à.à.à.à.à.4) A) JwUdÎmm ì¶dñWmnZmMr d¡{eîQ>ço {bhm. [8]
~) {dVaU gmIir ì¶dñWmnZmMr C{Ôï>o {bhm. [7]


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Q1) A) Fill in the Blanks (any 5) [5]

a) Unlawful hacking is punishable by –––––– imprisonment and a fine
of up to five lakh rupees.

i) 2 years

ii) 3 years

iii) 5 years

b) A collecting bank is protected only when it collects ––––––.

i) Cross cheque

ii) Order cheque

iii) Bearer cheque

c) Full form of ATM.

i) Anytime money

ii) Automatic teller machine

iii) Automatic tally machine

d) Write the full form of NEFT

i) National Electronic Fund Transfer

ii) Natural Electronic Fund Transfer

iii) Neutral Electronic Fund Transfer

P.T.O.
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e) –––––– This is the relationship between the backer and the customer.

i) Creditors and Creditors

ii) Debtors and Creditors

iii) Mainly Creditors and Debtors

f) Mails or messages sent to a large number of people without their
consent are called ––––––.

i) Cyber stalking

ii) Phishing

iii) Spamming

B) Match the pairs. [5]
i) Collection of Recovery a) Cyber crime
ii) Types of pledge b) Individual or family
iii) Types of bank account holder c) Simple mortgage
iv) Phishing d) Legal measures to control

cyber crimes in banking sector
v) IPC 420 e) Loan Recovery measures

Q2) Write short notes on (Any 2) : [10]
a) Rights of paying Bank.
b) Garnishee order
c) IPC-420 (Indian Penal Court-420
d) Lok Adalat

Q3) a) Explain the relationship between bank and customer. [8]
b) Explain the duties of the collecting bank. [7]

Q4) a) Explain Legal measures for loan recovery. [8]
b) Explain the types of cyber crime. [7]


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BANKING AND FINANCE-III
366(b): Banking Law and Practices in India

(2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) Ad¡X²¶ h°qH$J H$[aVm ........... H$mamdmg d nmM bmI én¶o n¶ªV X§S> Amho.

A) XmoZ df©

~) VrZ df©

H$) nmM df©

ii) dgwbr ~±Ho$bm VoìhmM g§ajU {Xbo OmVo Ooìhm Vr ............ Jmoim H$aVmo.

A) aoIm§{H$V YZmXoe

~) AmXoe YZmXoe

H$) dmhH$ YZmXoe

iii) ............ ho ATM Mo nwU© én Amho.

A) H$Yrhr n¡go

~) ñd¶§M{bV Q>oba ‘erZ

H$) ñd¶§M{bV Q>obr ‘erZ

iv) NEFT Mo nwU© én {bhm.

A) Z°eZb Bbo³Q´>m°{ZH$ ’§$S> Q´>m§g’$a

~) Z°Mab Bbo³Q´>m°{ZH$ ’§$S> Q´>m§g’$a

H$) Ý¶wQ>ab Bbo³Q´>m°{ZH$ ’§$S> Q´>m§g’$a

PB1394
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v) ........... hm ~°H$a Am{U J«mhH$ ¶m§À¶m‘Ü¶o g§~§Y AgVmo.

A) YZH$mo Am{U YZH$mo

~) G$UH$mo Am{U YZH$mo

H$) ‘wIV… YZH$mo Am{U G$UH$mo

vi) ‘moR²>¶m g§»¶oZo bmoH$m§Zm Ë¶m§À¶m g§‘Vr {edm¶ nmR>dboë¶m ‘ob qH$dm g§Xoe ¶mbm .............
åhUVmV.

A) gm¶~a ñQ>°qH$J

~) {’$qeJ

H$) ñn°q‘J

~) OmoS>çm Owidm. [5]
i) dgwbr ‘oimdo A) gm¶~a H«$mB©‘
ii) JhmZmMo àH$ma ~) d¡¶º$sH$ AWdm Hw$Qy>§~
iii) ~±H$ ImVoXmamMo àH$ma H$) gmYo JhmU
iv) {’$qeJ S>) ~±qH$J joÌmV gm¶~a JwÝh¶m§da {Z¶§ÌU

R>odÊ¶mMm H$m¶Xoera Cnm¶
v) Am¶nrgr - 420 B) H$O© dgwbrÀ¶m Cnm¶¶moOZm

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) àXm¶r ~±Ho$Mo h¸$.
~) Jm{Z©e Am°S>©a
H$) IPC-420 (^maVr¶ X§S> Ý¶m¶mb¶ - 420)
S>) bmoH$ AXmbV

à.à.à.à.à.3) A) ~±H$ d J«mhH$ ¶mVrb ZmVog§~§Y ñnîQ> H$am. [8]
~) dgwbr ~±Ho$Mo H$V©ì¶ ñnï> H$am. [7]

à.à.à.à.à.4) A) H$O© dgwbrÀ¶m H$m¶Xoera Cnm¶¶moOZm. [8]
~) gm¶~a JwÝh¶mMo àH$ma ñnï> H$am. [7]


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Q1) A) Fill in the blank with the most appropriate alternative (any five) : [5]

i) ________ are usually payable for a financial year after the final
accounts are ready and the amount of distributable profits is available.

(Dividends, Commission, Discounts)

ii) An ________  dividend is declared by the Board of directors.

(Final, Internal, Interim)

iii) _______ of accounts means opening of accounts which are closed
and filed at the appropriate authority.

(Reopening, Recasting, Revision)

iv) NFRA shall have a maximum of ________ members other than
chairperson.

(10, 12, 15)

v) The time-period for the appointment of first auditor is _________
days from the commencement of every financial year.

(90 days, 120 days, 180 days)

vi) Minimum number of directors in the case of a one-person company
is ________ directors.

(1, 2, 3)

P.T.O.
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B) Match the following: [5]

Column A Column B

i) Dividend declared between a) To give a true & fair view of

2 annual general meetings the state of affairs of the
company

ii) Unclaimed Dividend Account b) Auditing standards

iii) Financial Statements c) Three Director

iv) Institute of Chartered d) Interim Dividend

Accountants of India

v) Public Company e) Section 124

Q2) Write a Short Note (Any Two) : [10]

a) Unpaid Dividend

b) Internal Audit

c) Removal Of Auditor

d) Appointment of Director

Q3) a) What is Dividend? Explain the types of dividend. [8]

b) Explain the powers of Central Government to prescribe accounting
standards. [7]

Q4) a) Explain the Qualification & Disqualification of Auditor? [8]

b) What is Director? Explain the duties and rights of Director? [7]


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[6224]-620
T.Y.B.Com.

366 (C) : BUSINESS LAW & PRACTICES - III
(CBCS 2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) gm‘mÝ¶V: A§{V‘ ImVr V¶ma Pmë¶mZ§Va Am{U {dVaU H$aÊ¶m¶mo½¶ Zâ¶mMr a¸$‘ CnbãY
Pmë¶mZ§Va ........... Am{W©H$ dfm©gmR>r Xo¶ AgVmo.

(bm^m§e, Xbmbr, gyQ>)

ii) ............. bm^m§e g§MmbH$ ‘§S>imÛmao Kmo{fV Ho$bm OmVmo.

(A§{V‘, A§VJ©V, A§V[a‘)

iii) ............... ImË¶m§Mm AW© ~§X Ho$bobr ImVr CKS>Uo Am{U ¶mo½¶ àm{YH$aUmH$S>o XmIb
H$aUo.

(nwÝhm CKS>Uo, nwZa©MZm H$aUo, nwZamd¥Îmr)

iv) NFRA ‘Ü¶o AÜ¶jmì¶{V[aº$ OmñVrV OmñV .............. gXñ¶ Agmdo bmJVmV.

(10, 12, 15)

v) n{hë¶m boImnarjH$mÀ¶m {Z¶wº$sMm H$mbmdYr àË¶oH$ Am{W©H$ dfm©À¶m àma§^mnmgyZ
............. {Xdgm§Mm AgVmo.

(90 {Xdg, 120 {Xdg, 180 {Xdg)

vi) EH$ ì¶º$s H§$nZrÀ¶m ~m~VrV {H$‘mZ g§MmbH$m§Mr g§»¶m ................ g§MmbH$ AgVo.

(1, 2, 3)

PB1395
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~) ¶mo½¶ OmoS>çm bmdm. [5]

aH$mZm> A aH$mZm> ~

i) XmoZ dm{f©H$ gd©gmYmaU g^m§Xaå¶mZ A) H§$nZrÀ¶m H$m‘H$mOmMr Iar Am{U
Kmo{fV Ho$bobm bm^m§e {Zînj ‘m{hVr XoUo

ii) AXm Z Ho$bobm bm^m§e ImVo ~) A§Ho$jUmMr ‘mZHo$

iii) Am{W©H$ {ddaUnÌo H$) VrZ g§MmbH$

iv) B©ÝñQ>rQ²>¶wQ> Am°’$ MmQ>©S>© AH$mD$ÝQ>Q> S>) A§V[a‘ bm^m§e
Am°’$ B§{S>¶m

v) gmd©O{ZH$ H§$nZr B) H$b‘ 124

à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) AXm Z Ho$bobm bm^m§e

~) A§VJ©V A§Ho$jU

H$) A§Ho$jH$mMr hH$mbnÅ>r

S>) g§MmbH$mMr Zo‘UyH$

à.à.à.à.à.3) A) bm^m§e åhUOo H$m¶? bm^m§emMo àH$ma ñnï> H$am. [8]

~) boIm ‘mZHo$ {d{hV H$aÊ¶mMo H|$Ð gaH$maMo A{YH$ma ñnï> H$am. [7]

à.à.à.à.à.4) A) A§Ho$jH$mMr nmÌVm Am{U AnmÌVm ñnï> H$am. [8]

~) g§MmbH$ åhUOo H$m¶? g§MmbH$mMo A{YH$ma Am{U H$V©ì¶o ñnï> H$am. [7]


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Q1) A) Fill in the blanks (any 5) : [5]

i) The appointment of an Auditor is done by ____________

a) State Government

b) Registerar of Co-operative society.

c) Board of Directors

ii) maximisation of ________ is the goal of financial management

a) Money

b) Profit

c) Production

iii) ________ is the forecast of financial planning.

a) Budget

b) Cash Book

c) Balance sheet

iv) Financial Management is concerned with the efficient use of ______

a) share capital

b) current assets

c) an important economic resource
P.T.O.
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v) The Finance Manager is accountable for _______

a) Management of fund

b) Arrangement of financial resources

c) Proper Utilisation of funds

vi) Audit is _______ to co-operative society

a) Mandatory

b) Voluntary

c) Not compulsory

B) Match the following: [5]
A B

i) Financial control a) Financial Management
ii) Planning of Finance b) Financial Planning
iii) Mgt of co-operative finance c) Utilisation of Funds
iv) Report by Auditor d) Examination by Auditor
v) Co-operative Audit e) Audit report

Q2) Write Short Notes (Any Two) : [10]
a) Characteristics of Financial Planning
b) Sources of co-operative finance
c) Policy of operating expenditure in co-operative society.
d) Significance of co-operative audit.

Q3) a) State the various types of Audit in Co-operatives. [8]
b) State utilization of funds and Capital in Co-operatives. [7]

Q4) a) Differentiate between Corporate Finance and Co-operative Finance. [8]
b) State the Budget and Accounting of Co-operatives. [7]


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[6224]-621
T.Y.B.Com.

366 (D) CO-OPERATION AND RURAL DEVELOPMENT - III
(2019 Pattern) (CBCS) (Semester - VI) (Paper - III)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) A§Ho$jH$mMr {Z¶wº$s hr ............ Ûmao Ho$br OmVo.

A) amÁ¶ gaH$ma

~) gmogm¶Q>r a{OñQ´>ma

H$) g§MmbH$ ‘§S>i

ii) ................ Mr dmT> hr {dÎmr¶ ì¶dñWmnZmMo bj Amho.

A) n¡gm

~) Z’$m

H$) CËnmXZ

iii) ............. ho {dÎmr¶ {Z¶moOZmMr nydm©Zw‘mZ Amho.

A) A§XmOnÌH$

~) amoY nwñVH$

H$) Vmio~§X

iv) {dÎmr¶ ì¶dñWmnZ ............. Mm H$m¶©j‘nUo dmnamer g§~§YrV Amho.

A) ^mJ ^m§S>db

~) Mmby ‘mb‘Îmm

H$) ‘hÎdmMm Am{W©H$ ñÌmoV
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v) {dÎmr¶ ì¶dñWmnH$ ............ bm CÎmaXm¶r AgVmo.

A) {ZYrMo ì¶dñWmnZ

~) {dÎmr¶ ñÌmoVm§Mr H«$‘dmar

H$) {ZYrMm ¶mo½¶ {d{Z¶moJ

vi) ghH$mar gmogm¶Q>çm§Zm A§Ho$jU ............... AgVo.

A) gº$sMo

~) EopÀN>H$

H$) gº$sMo ZgVo

~) Imbrb OmoS>çm bmdm. [5]
A ~

i) {dÎmr¶ {Z¶§ÌU A) {dÎmr¶ ì¶dñWmnZ

ii) {dÎmmMo ¶mo½¶ {Z¶moOZ ~) {dÎmr¶ {Z¶moOZ

iii) ghH$mar {ZYrMm dmna ì¶dñWmnZ H$) {ZYrMm dmna

iv) A§Ho$jH$mZo {Xbobm Ahdmb S>) A§Ho$jH$mÛmao narjm

v) ghH$mar A§Ho$jU B) A§Ho$jU Ahdmb

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) {dÎmr¶ {Z¶moOZmMr d¡{eï>ço

~) ghH$mamVrb {dÎmr¶ ñÌmoV

H$) ghH$mar g§ñWm§‘Yrb X¡Z§{XZ IMm©{df¶r YmoaU

S>) ghH$mar A§Ho$jUmMo ‘hÎd

à.à.à.à.à.3) A) ghH$mamVrb A§Ho$jUmVrb {d{dY àH$ma gm§Jm. [8]
~) ghH$mam‘Ü¶o {ZYrMm ¶mo½¶ dmna H$gm hmoVmo Vo gm§Jm. [7]

à.à.à.à.à.4) A) H§$nZr {dÎm Am{U ghH$mar {dÎm ¶m‘Yrb ’$aH$ ñnï> H$am. [8]
~) ghH$mamVrb A§XmOnÌH$ Am{U boIm§H$Z gm§Jm. [7]


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Q1) A) Fill in the blanks with the appropriate term from the given options
(any five) [5]
a) Idle Time Variance = Idle Time x ______ (Actual Rate, Standard

Rate, Idle Rate)
b) Material Usage Variance = Material Mix Variance + _____ ( Material

Cost Variance, Material Price Variance, Material Yield Variance)
c) ______ pricing is a strategy for pricing goods based on its perceived

value rather than on its historical price. (Cost -based, Value -based,
Competition - based)

d) Discarded material having no significant value which is usually
disposed off without further treatment is known as _____ (Rejects,
Scrap, Defective)

e) Section _____ of Companies Act 2013 deals with maintenance of
costing records (148, 140, 130)

f) Under ______ Pricing Policy a higher price is charged for a product
or service on account of competitive advantage (Penetrating,
Economy, Price Skimming)

B) Match the following [5]
Column A Column B
a)  CAS 7 i) Emotional Base
b) Variance ii) Maximum Level of Efficiency
c) Psychological Pricing iii) Employee Cost
d) Ideal Standard iv) Actual Cost - Standard Cost
e) Price Floor Ceiling v) Minimum Selling Price

P.T.O.
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Q2) Write short notes (any two) [10]

a) Types of Standards

b) Cost Accounting Standard 6 (CAS-6) Material Cost

c) Target Costing

d) Rights and duties of a Cost Auditor

Q3) a) From the information given below you are required to calculate [8]

i) Material Cost variance,

ii) Material Price Variance,

iii) Material Quantity Variance

iv) Verification of the calculation of the variances

Standard Actual

Material Quantity Rate(B) Quantity Rate(B)

(kgs) (kgs)

X 75 20 60 30

Y 25 20 40 10

Total 100 100

b) From the information given below you are required to calculate [7]

i) Labour Cost Variance

ii) Labour Rate Variance

iii) Labour Efficiency

iv) Idle Time Variance
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Given:

1) Standard Hours = 1,500 hours

2) Standard Rate per hour = B150

3) Actual Rate = B130

4) Actual Hours (Total) = 1,400 hours

5) Idle Time (hours not worked due to abnormality) = 10 hours

Q4) a) Aplha Ltd. produces and sells 1,500 units per month at a selling price of
Rs. 30/- per unit with a variable cost of Rs. 15/- per unit and a fixed cost
of Rs. 7,500/-. The management has proposed to reduce the selling
price to Rs. 25/- per unit under normal condition to gain a competitive
advantage.

You are required to calculate the amount of additional sales to earn an
additional profit of Rs. 5,000/- as compared to the current profit. [8]

b) What is a Cost Audit? Explain advantages of Cost Audit? [7]


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Q1) a) Fill in the blanks of the following (Any five) [5]

i) Node is the collection of two or morethan two ______

ii) Shortest possible time to complete the activity is known as ______
time in PERT.

iii) _______ is a method of imitating of real system with artificial data
using computers.

iv) The number of customers waiting in a queue is called______

v) A group of individuals or units from where the customers arrive in
the queuing system is called as ______

vi) We can maximize profit function by using computation of ______
function.

b) State whether each of the following statements are true or false. (Any five)[5]

i) CPM is non-deterministic model.

ii) For project, we can get morethan one critical path.

iii) Random numbers generated using computer are called Pseudo
random numbers.

iv) In queuing theory, service rate and arrival rate should be expressed
in same units.

v) The calling population may be infinite.

vi) If C (x)=3x4 + 12x2 – 3x + 10 is the manufacture’s total cost equation,
then fixed cost is zero.

P.T.O.P.T.O
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Q2) Attempt any two of the following: [2×5=10]

a) Explain the following terms: ‘Most likely time’ in PERT,

‘Pessimistic time’ in PERT,

Simulation,

Calling Population,

Demand function.

b) Explain the following terms: Probability of completion of project,

How simulation can be used in business,

Traffic intensity,

Cost function,

Profit function.

c) Explain the minima and maxima function with an illustration.

d) If C (x) = 3x4 + 2x3 – 7x + 132 is the manufacturer’s total cost equation,
then find average cost, fixed cost, variable cost and marginal cost.

Q3) a) The following table gives the activities in a project and other relevant
information.

Activity 1-2 1-3 1-4 2-5 3-4 3-7 4-6 5-7 6-7

Duration 20 23 8 19 16 24 18 4 10

Find earliest start, earliest finish, latest start, latest finish, total float, Free
float and independent float for each activity. Also find critical path. [8]

b) A departmental store has one cashier at its counter. Twenty customers
arrive on an average per hour while the cashier can serve 24 customers
per hour. Find:

i) Probability that cashier is idle.

ii) Average time a customers wait before being served.

iii) Average no. of customers in queue.

iv) Average no. of  a customers in the system.

v) Probability that a customer has to wait before he  gets service. [7]
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Q4) a) Given below is the information about project regarding different activities.
All estimates (time) are in days.

Activity 1-2 1-3 1-4 2-5 3-5 4-6 5-6

to 5 1 2 3 1 2 1

tm 6 1 4 6 1 2 4

tp 7 2 12 15 1 8 7

i) Draw the network diagram of PERT and find expected time estimate
and variance for each activity.

ii) Given that the total estimated project completion time is 17 days
with S.D.3. 14 days. What is the probability that the project will be
completed within 12 days? [8]

b) A company manufacturer’s 200 car cycles per day which changes
according to availability of raw material:

Production 196 197 198 199 200 201 202 203 204

No. of days 5 9 12 14 20 15 11 8 6

Consider the following sequence of random numbers:

82, 89, 78, 24, 52, 61, 18, 45, 04, 23, 50?

Using the sequence simulate the production for next 12 days. Use
monte-Carlo simulation method. [7]


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Q1) A) Fill in the blanks (Any 5) : [5]

i) When working in a group ______ is important to keep an open mind.

a) Communication

b) Listening

c) Collaboration

ii) A __________ is defined as a group of people who performs
independent task to work toward accomplishing a common goal.

a) Team

b) Individual

c) Training

iii) An interpersonal conflict in which no participant is aware of the
divergence of goals, needs or interest is known as __________

a) Latent conflict

b) False conflict

c) Cause of conflict

iv) The most appropriate method of motivation is __________

a) Punishment

b) Knowledge of progress

c) Competition
P.T.O.
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v) __________ is the correct depiction of digital marketing.
a) E-mail Marketing
b) Social Media Marketing
c) All of the above

vi) __________ is the father of digital marketing.
a) Philip Kotler
b) Justin Hall
c) Porter.

B) Match the following: [5]
Group A Group B

i) Entrepreneur a) Online Marketing
ii) Cases of stress b) Tool to explain function
iii) Job Description c) Self-motivated
iv) Job Enrichment d) Financial Matters
v) Digital Marketing e) Increased responsibility

Q2) Write Short Notes (Attempt Any Two) : [10]
a) Virtual Learning.
b) Nature of conflict management in entrepreneurship.
c) Management by Objectives.
d) Issues in digital marketing.

Q3) a) What is Team? Explain the activities in team. [8]
b) Explain measures to reduce the stress in the work place. [7]

Q4) a) What is motivation? Explain types of motivational theories. [8]
b) Explain the four P’s of digital marketing. [7]


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[6224]-624
T.Y.B.Com.

366 (g) : BUSINESS ENTREPRENEURSHIP - III
(2019 Pattern) (Semester - VI) (Special Paper - III)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]
i) JQ>mV H$m‘ H$aVmZm ‘Z ‘moH$io R>odUo ho ............... ‘wio ‘hÎdmMo Amho.

A) g§dmX

~) EoH$Uo

H$) gh¶moJ

ii) ............ Mr ì¶m»¶m bmoH$m§Mm g‘yh åhUyZ Ho$br OmVo Oo EH$ g‘mZ Ü¶o¶ gmÜ¶ H$aÊ¶mgmR>r
H$m¶© H$aÊ¶mgmR>r ñdV§Ì H$m¶© H$aVmV.

A) g§K

~) d¡¶{º$H$

H$) à{ejU

iii) EH$ Am§Vad¡¶{º$H$ g§Kf© Á¶m‘Ü¶o H$moUË¶mhr gh^mJrbm Ü¶o¶, JaOm qH$dm ñdmañ¶
¶m§À¶m {^ÞVoMr OmUrd ZgVo åhUyZ .............. Ë¶mbm AmoiIbo OmVo.

A) gwá g§Kf©

~) ImoQ>m g§Kf©

H$) pñWVrMm g§Kf©

iv) A{^àoaUm XoÊ¶mMr gdm©V ¶mo½¶ nÕV ................ hr Amho.

A) {ejm

~) àJVrMo kmZ

H$) ñnYm©

PB1399
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v) ................. ho {S>{OQ>b {dnUZmMo ¶mo½¶ {MÌU Amho.

A) B©-‘ob {dnUZ

~) gm‘m{OH$ ‘mÜ¶‘o {dnUZ

H$) darb gd©

vi) .............. ho {S>{OQ>b {dnUZmMo OZH$ AmhoV.

A) {’${bn H$moQ>ba

~) OpñQ>Z hm°b

H$) nmoQ>©a

~) OmoS>çm bmdm. [5]
JQ> A JQ> ~

i) CÚmoOH$ A) Am°ZbmBZ {dnUZ

ii) VUmdmMr H$maUo ~) H$m¶© ñnï> H$aÊ¶mgmR>r gmYZ

iii) H$m‘mMo ñdê$n H$) ñdV: ào[aV

iv) ZmoH$ar g§nÞVm S>) Am{W©H$ ~m~r

v) {S>{OQ>b {dnUZ B) O~m~Xmar dmT>br

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) Am^mgr {ejU

~) CÚmoOH$Vo‘Ü¶o g§Kf© ì¶dñWmnZmMo ñdê$n

H$) C{Ôï>m§Zwgma ì¶dñWmnZ

S>) {S>{OQ>b {dnUZmVrb g‘ñ¶m

à.à.à.à.à.3) A) g§K H$m¶ Amho? g§KmVrb {H«$¶m ñnîQ> H$am. [8]
~) H$m‘mÀ¶m {R>H$mUr VmU H$‘r H$aÊ¶mgmR>r Cnm¶ ñnï> H$am. [7]

à.à.à.à.à.4) A) A{^àoaUm åhUOo H$m¶? A{^àoaUm {gÕm§VmMo àH$ma ñnï> H$am. [8]
~) {S>{OQ>b {dnUZmMo 4nr' O ñnï> H$am. [7]


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Q1) A) Fill in the blanks (any 5) : [5]

i) Analytical study of marketing strategy is done in _________

a) Marketing Audit b) Marketing planning

c) Marketing control c) Marketing organisation

ii) In service marketing after sales service, quality service, business
service, and research and development etc. are part of ________

a) Person oriented components

b) Product oriented components

c) Quality oriented components

d) Industry Group components.

iii) Marketing Audit is done by _______ Auditor.

a) Business Auditor b) Marketing Auditor

b) Financial Auditor d) Cost Auditor

iv) ________ are depend on use of Internet and modern technology

a) Press Media b) Audio-video Media

c) Social Media d) Earned Media

P.T.O.
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v) ________ is an effective technique of control of market to establish
business with smoothly procedure.

a) Market cost analysis b) Ratio Analysis

c) Variance Analysis d) SWOC Analysis

vi) ______ is a types of media, in which every person can post
information video or his views on any lecture, this is free at global
level.

a) Media sharing b) Social Publication

c) Discussion forum d) Online Reviews

B) Match the following: [5]
Group A Group B

i) Linking policy and technology a) Person oriented components
ii) Banking and Insurance service b) Desing oriented components
iii) Shine, pattern, movement c) Product oriented components
iv) Transportation services d) Quality oriented components
v) Educational and Technology e) Group of Industry components

services

Q2) Write Short Notes (Any Two) : [10]
a) Person Oriented Components in service marketing.
b) Characteristics of copyright.
c) Features of Social Media Marketing.
d) Process of Marketing control.

Q3) a) Explain the 7Ps Concept of Service marketing. [8]
b) Which elements are used for setting of Advertisement? Explain in detail.

[7]

Q4) a) Explain the social media marketing in detail. [8]
b) Explain the Techniques of Marketing control in detail. [7]


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[6224]-625
T.Y.B.Com.

366 (H) : MARKETING MANAGEMENT - III
(2019 Pattern) (CBCS) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) {dnUZ ì¶yhaMZoMm {díbofZmË‘H$ Aä¶mg ............... ‘Ü¶o Ho$bm OmVmo.

A) {dnUZ A§Ho$jU ~) {dnUZ {Z¶moOZ

H$) {dnUZ {Z¶§ÌU S>) {dnUZ g§KQ>Z

ii) godm {dnUZmV {dH«$¶moÎma godm, JwUdÎmm godm, ì¶mnmar godm Am{U g§emoYZ d {dH$mg
BË¶mXtMm g‘mdoe ............... ¶m KQ>H$m§‘Ü¶o Ho$bm OmVmo.

A) ì¶{º${Zð> KQ>H$ ~) dñVy{Zð> KQ>H$

H$) JwUdÎmm{df¶H$ KQ>H$ S>) CÚmoJg‘yh KQ>H$

iii) {dnUZ A§Ho$jU ho ........... A§Ho$jH$mÛmao Ho$bo OmVo.

A) ì¶mdgm{¶H$ A§Ho$jH$ ~) {dnUZ A§Ho$jH$

H$) {dÎm A§Ho$jH$ S>) n[aì¶¶ A§Ho$jH$

iv) ............. hr B§Q>aZoQ> d AmYw{ZH$ V§ÌkmZmÀ¶m dmnamda Adb§~yZ AgVmV.

A) N>mnrb ‘mÜ¶‘o ~) ÑH$lmì¶ ‘mÜ¶‘o

H$) gm‘m{OH$ ‘mÜ¶‘o S>) {‘iH$V ‘mÜ¶‘o

PB1400
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v) ì¶mdgm{¶H$ H$m¶} gwairV nma nmS>Ê¶mgmR>r VgoM {dnUZ {Z¶§ÌU ¶mo½¶ àH$mao àñWm{nV
H$aÊ¶mgmR>r .................. ho à^mdr V§Ì Amho.

A) ~mOma‘yë¶ {díbofU ~) JwUmoÎma {díbofU

H$) g§~§Y {díbofU S>) ñdm°H$ {díbofU

vi) àË¶oH$ ì¶º$s gmoeb nmoï>, ‘mhrVr, pìhS>rAmo qH$dm EImÚm VkmÀ¶m ì¶m»¶mZmda Amnbr
‘Vo, {dMma àX{e©V H$ê$ eH$Umao OmJ{VH$ ñVamda gdmªgmR>rM Iwbo AgUmao ‘mÜ¶‘
åhUOo ............... hmo¶.

A) ‘mÜ¶‘ {d{Z‘¶ ~) gm‘m{OH$ àH$meZ

H$) MMm© ì¶mgnrR> S>) Am°ZbmBZ nwZamdbmoH$Z

~) ¶mo½¶ OmoS>çm Owidm. [5]
JQ> A JQ> ~

i) YmoaU d V§ÌkmZmMr OmoS> A) ì¶{º${Zð> KQ>H$

ii) ~±H$ Am{U {d‘m godm ~) AmH¥${V{df¶H$ KQ>H$

iii) M‘H$, a§Jg§JVr Am{U hmbMmb H$) dñVy{ZîR> KQ>H$

iv) dmhVyH$ Am{U XiUdiU godm S>) JwUdÎmm/H$m¡eë¶{df¶H$ KQ>H$

v) e¡j{UH$ Am{U V§ÌkmZ {df¶H$ godm B) CÚmoJg‘yh KQ>H$

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) godm {dnUZmVrb ì¶{º${Zð> KQ>H$

~) H$m°nramB©Q>Mr d¡{eï>ço

H$) {dnUZmÀ¶m gm‘m{OH$ ‘mÜ¶‘m§Mr d¡{eï>ço

S>) {dnUZ {Z¶§ÌU à{H«$¶m

à.à.à.à.à.3) A) godm {dnUZmVrb 7Ps g§H$ënZoVrb KQ>H$ ñnï> H$am. [8]
~) AmH$f©H$ Om{hamV ‘m§S>UrgmR>r H$moUVo KQ>H$ {dMmamV ¿¶mdo bmJVmV? ¶mMo g{dñVa {ddoMZ

H$am. [7]

à.à.à.à.à.4) A) {dnUZ{df¶H$ gm‘m{OH$ ‘mÜ¶‘o g{dñVa ñnï> H$am. [8]
~) {dnUZ {Z¶§ÌU V§Ìo g{dñVa ñnï> H$am. [7]


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Q1) A) Fill in the blanks. (Attempt any 5 out of 6) : [5]

i) The Minimum wages of labor are regulated by ________act.

(Industrial Disputes Act, Payment of Wages Act, Minimum Wages
Act, Payment of Bonus Act)

ii) Minimum support prices are determined by___________

(CACP, FPO, NABARD, RRB)

iii) The trade union act deals with___________

(Farmers Organizations, Trade Unions, Bankers association,
Teachers organizations)

iv) The First five-year plan was implemented during ______to _______

(1955-1960, 1965 to 1970, 1951 to 1955, 1975 to 1985)

v) The difference in the development of various industrial regions is
called ________.

(Social Imbalance, Industrial Imbalance, Agricultural Imbalance,
Market Imbalance)

vi) In 1947 __________ act was passed.

(Industrial dispute act, Payment of wages act, Minimum wages act,
Payment of Bonus act)

P.T.O.
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B) Match the following: [5]

i) National Green Tribunal Act a) Five-year plan

ii) Planning Commission b) Measure on regional Imbalance

iii) Opening of new industries at c) Development of Agriculture

rural areas

iv) Main objective of First d) CACP

Five-year plan

v) Agricultural Cost e) 2010

Determination

Q2) Write a Short Note (Any Two out of 4) : [10]

a) Need of Agricultural Policies

b) Minimum Support Price

c) Regional Industrial Imbalance

d) Industrial Legislations

Q3) a) Explain the need for agricultural price policy [8]

b) Describe the need of Minimum support price [7]

Q4) a) Explain the causes of Regional Industrial Imbalance [8]

b) Write a detail note on Commission for Agricultural Cost and Price [7]


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366 (i) : AGRICULTURAL AND INDUSTRIAL ECONOMICS - III
(2019 Pattern) (Semester - VI) (Paper - III)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ‘Owam§À¶m {H$‘mZ doVZmMr {Z{üVr ............ ‘m’©$V Ho$br OmVo.

(Am¡Úmo{JH$ g§Kf© {ZdmaU H$m¶Xm, doVZ AXm¶Jr H$m¶Xm, {H$‘mZ doVZ H$m¶Xm, ~moZg
AXm¶Jr H$m¶Xm)

ii) {H$‘mZ AmYma ŷV {H$‘Vr ................ Ûmao {ZYm©[aV Ho$ë¶m OmVmV.

(CACP, FPO, NABARD, RRB)

iii) H$m‘Jma g§KQ>Zm H$m¶Xm .............. g§~§{YV Amho.

(eoVH$ar g§KQ>Zm, H$m‘Jma g§KQ>Zm, ~±H$ g§KQ>Zm, {ejH$ g§KQ>Zm)

iv) n{hbr n§Mdm{f©H$ ¶moOZm ............. ¶m ¶mH$mimV am~{dÊ¶mV Ambr.

(1955-1960, 1965-1970, 1951-1955, 1975-1985)

v) {d{dY Am¡Úmo{JH$ joÌm§À¶m {dH$mgmVrb ’$aH$mg ................. Ago åhUVmV.

(gm‘m{OH$ Ag‘Vmob, Am¡Úmo{JH$ Ag‘Vmob, H¥$fr Ag‘Vmob, ~mOma Ag‘Vmob)

vi) 1947 ‘Ü¶o .............. H$m¶Xm g§‘V H$aÊ¶mV Ambm.

(Am¡Úmo{JH$ {d{dX {ZdmaU H$m¶Xm, doVZ AXm¶Jr H$m¶Xm, {H$‘mZ doVZ H$m¶Xm, ~moZg
AXm¶Jr H$m¶Xm)
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~) ¶mo½¶ OmoS>çm bmdm. [5]

i) amï´>r¶ h[aV Ý¶m¶m{YH$aU H$m¶Xm A) n§Mdm{f©H$ ¶moOZm

ii) {Z¶moOZ Am¶moJ ~) àmXo{eH$ Ag‘Vmobmdarb Cnm¶

iii) J«m‘rU ^mJm‘Ü¶o ZdrZ CÚmoJm§Mm {dH$mg H$) H¥$fr {dH$mg

iv) n{hë¶m n§Mdm{f©H$ ¶moOZoMo C{Ôï> S>) CACP

v) H¥$fr IM© Am¶moJ B) 2010

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) H¥$fr YmoaUm§Mr JaO

~) {H$‘mZ AmYma ŷV qH$‘V

H$) àmXo{eH$ Am¡Úmo{JH$ Ag‘Vmob

S>) Am¡Úmo{JH$ H$m¶Xo àUmbr

à.à.à.à.à.3) A) H¥$fr qH$‘V YmoaUm§Mr Amdí¶H$Vm ñnï> H$am. [8]

~) {H$‘mZ AmYma ŷV qH$‘V YmoaUmMr JaO {deX H$am. [7]

à.à.à.à.à.4) A) àmXo{eH$ Am¡Úmo{JH$ Ag‘VmobmMr H$maUo ñnï> H$am. [8]

~) H¥$fr IM© Am{U qH$‘V Am¶moJ ¶mda g{dñVa Q>rn {bhm. [7]


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Q1) Attempt any five of the following. [5×2=10]

a) Define new trends in defence.

b) Define natural resources.

c) Define defence expenditure.

d) Define defence forces.

e) Define Defence Research Laboratory (DRL)?

f) What are capability modernisation of defence?

Q2) Attempt any four of the following. [4×5=20]

a) Unconventional and asymmetric warfare

b) Military leadership

c) Defence items designed

d) Indigenisation of armed forces

e) Challenges in defence

P.T.O.
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Q3) Attempt any four of the following. [4×5=20]

a) Defence is a “topmost priority” explain it.

b) Explain linkages between planning and budget.

c) Explain the role of Directorate General of Quality Assurance (DGQA).

d) Explain analysis of defence expenditure since 1998.

e) Explain foreign aid as a contributory element of war potential.

Q4) Attempt any two of the following. [2×10=20]

a) Explain in detail Indian defence companies.

b) Explain in detail elements of war potential.

c) Explain in detail the impact of expenditure on India Defence Forces.


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[6224]-627
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366(J):DEFENCE BUDGETING, FINANCE & MANAGEMENT-III
(2019 Pattern) (Semester - VI) (Special Paper - III)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]

A) g§ajUmVrb ZdrZ àdmh ì¶m»¶m H$am.

~) Z¡g{J©H$ gmYZ g§nÎmr ì¶m»¶m H$am.

H$) g§ajU IM© ì¶m»¶m Úm.

S>) goZmXbo ì¶m»¶m Úm.

B) g§ajU g§emoYZ à¶moJemim (S>rAmaEb) ì¶m»¶m H$am.

’$) g§ajUmMr j‘Vm AmYw{ZH$sH$aU åhUOo H$m¶?

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) Anma§nm[aH$ Am{U Ag‘{‘V ¶wÕ

~) bîH$ar ZoV¥Ëd

H$) g§ajU dñVy§Mr aMZm

S>) goZmXbm§Mo ^maVr¶rH$aU

B) g§ajUmVrb AmìhmZo
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) g§ajU ho ""gdm}ƒ àmYmÝ¶'' Amho ho ñnï> H$am.

~) AW©g§H$ën Am{U {Z¶moOZ ¶mVrb g§~§Y ñnï> H$am.

H$) JwUdÎmm h‘r ‘hmg§MmbZmb¶mMr ŷ{‘H$m ñnï> H$am. (DGQA)

S>) 1998 Z§VaÀ¶m g§ajU IMm©Mo {díbofU H$am.

B) ¶wÕ J{V‘mZVoVrb naH$s¶ ghH$m¶m©Mo KQ>H$ ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) ^maVr¶ g§ajU H§$nÝ¶m§Mo Vnerbdma dU©Z H$am.

~) ¶wÕ J{V‘mZVoMo KQ>H$ g{dñVa ñnï> H$am.

H$) ^maVr¶ g§ajUXbmdarb g§ajU IMm©Mo n[aUm‘ g{dñVa ñnï> H$am.





Total No. of Questions : 4]

[6224]-628
T.Y.B.Com.

INSURANCE, TRANSPORT AND TOURSIM - III
366 (K) : Tourism

(2019 Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PB1403 [Total No. of Pages : 4
SEAT No. :

Q1) A) Fill in the blanks (Attempt any 5 out of 7) : [5]
i) When a visitor travels within their country of residence, they are

considered ______.
a) Domestic tourists
b) International tourists
c) Inbound tourists

ii) The Indian Government took its first tourist marketing initiative
through the incredible India campaign in:
a) 2002
b) 2000
c) 1999

iii) ______ is a passport which is issued to Government officials or
other persons on Government missions.
a) Normal Passport
b) Diplomatic and Consular passport
c) Official passport

iv) In _______ component of a tour package includes the planned
schedule of destinations and activities.
a) Accommodation
b) Transportation
c) Itinerary

P.T.O.
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v) ______ process involves grouping people within a market based
on similar needs, characteristics, or behaviour.
a) Tourism marketing
b) Segmentation
c) Targeting

vi) ________ type of tour package focuses on cultural experiences
and historical sites.
a) Adventure Tours
b) Beach Tours
c) Cultural Tours

vii) When a travel agency provides the service of a well-educated, trained
tour manager during the course of travel, it is known as _____
a) Escorted tour
b) Hosted tour
c) Inclusive tour

B) Match the following. [5]
i) Transportation a) A place where tourists stay

during their trip
ii) Accommodation b) Modes of travel
iii) Itinerary c) Duration of the trip
iv) Meals d) Planned schedule of destinations

and activities
v) Tour Period e) Food arrangements

Q2) Write short notes on (any 2 out of 4) : [10]
a) Components of tour package
b) Pre-departure meeting
c) Tour manager briefing
d) Role of tour operator

Q3) a) State the significance of Tour Package. [8]
b) Explain the factors Affecting the Tour Package Formulation. [7]

Q4) a) Discuss about Travel documents. [8]
b) Define the term “Tourism” and explain its economic impact on a country.

[7]


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[6224]-628
T.Y.B.Com.

INSURANCE, TRANSPORT AND TOURSIM - III
366 (K) : Tourism

(2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (7 n¡H$s H$moUVohr 5 gmoS>dm). [5]
i) O|ìhm EImXm nmhþUm Ë¶m§À¶m {ZdmgñWmZmÀ¶m XoemV àdmg H$aVmo Voìhm Ë¶m§Zm .............

‘mZbo OmVo.
A) Xoer n¶©Q>H$
~) Am§Vaamï´>r¶ n¶©Q>H$
H$) BZ~mC§S> n¶©Q>H$

ii) ^maV gaH$maZo AVwë¶ ̂ maV A{^¶mZmÛmao Amnbm n{hbm n¶©Q>Z {dnUZ CnH«$‘ .............
¶m dfu hmVr KoVbm.
A) 2002
~) 2000
H$) 1999

iii) .............. hm emgH$s¶ A{YH$mar qH$dm gaH$mar H$m‘ H$aÊ¶mgmR>r BVa ì¶º$s¨Zm XoÊ¶mV
Ambobm nmgnmoQ>© Amho.
A) gm‘mÝ¶ nmgnmoQ>©
~) ‘wËgÔr Am{U dm{UÁ¶ nmgnmoQ>©
H$) A{YH¥$V nmgnmoQ>©

iv) Qy>a n°Ho$OÀ¶m ................ KQ>H$m‘Ü¶o J§Vì¶ñWmZo Am{U {H«$¶mH$bmnm§Mo {Z¶mo{OV doimnÌH$
g‘m{dï> Amho.
A) amhÊ¶mMr gmo¶
~) dmhVyH$
H$) àdmgmMm H$m¶©H«$‘
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v) ................ à{H«$¶oV g‘mZ JaOm, d¡{eï>ço qH$dm dV©ZmÀ¶m AmYmao ~mOmanoR>oVrb bmoH$m§Mo
JQ>rH$aU Ho$bo OmVo.
A) n¶©Q>Z {dnUZ
~) {d^mOZ
H$) Q>mJ}qQ>J

vi) .............. àH$maMo Qy>a n°Ho$O gm§ñH¥${VH$ AZŵ d Am{U Eo{Vhm{gH$ ñWim§da H|${ÐV
Amho?
A) gmhgr ghbr
~) ~rM ghbr
H$) gm§ñH¥${VH$ ghbr

vii) àdmgmXaå¶mZ Ooìhm EImXr Q´>°ìhb EOÝgr gw{e{jV, à{e{jV Qy>a ‘°ZoOaMr godm nwadVo,
Voìhm Ë¶mbm ...............
A) EñH$m°Q>}S> Qy>a
~) hmoñQ> Ho$bobm Xm¡am
H$) g‘mdoeH$ Xm¡am

~) ¶mo½¶ OmoS>çm bmdm. [5]
i) dmhVyH$ A) n¶©Q>H$ àdmgmXaå¶mZ ‘w̧ $m‘ H$aUmar OmJm
ii) amhÊ¶mMr gmo¶ ~) àdmgmMr nÕV
iii) àdmgmMm H$m¶©H«$‘ H$) àdmgmMm H$mbmdYr
iv) ^moOZ S>) J§Vì¶ñWmZo d CnH«$‘m§Mo {Z¶mo{OV doimnÌH$
v) ghbrMm H$mbmdYr B) OodUmMr ì¶dñWm

à.à.à.à.à.2) {Q>nm {bhm. (4 n¡H$s H$moUVohr 2) [10]
A) n¶©Q>Z n°Ho$OMo KQ>H$
~) àñWmZnyd© ~¡R>H$
H$) Qy>a ‘°ZoOaMr {Q>ßnUr
S>) Qy>a Am°naoQ>aMr ŷ{‘H$m

à.à.à.à.à.3) A) Qy>a n°Ho$OMo ‘hËd {deX H$am. [8]
~) Qy>a n°Ho$O V¶ma H$aVmZm Ë¶mda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am. [7]

à.à.à.à.à.4) A) ""n¶©Q>Z H$mJXnÌm'' {df¶r MMm© H$am. [8]
~) ""n¶©Q>Z'' ¶m eãXmMr ì¶m»¶m {bhm Am{U EImÚm Xoemda Ë¶mMm Am{W©H$ n[aUm‘ ñnï> H$am. [7]


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Q1) A) Fill in the Blanks. [5]
a) _________ engineering is an engineering based approach to

software development.

i) Mechanical ii) Traditional

iii) Software iv) Hardware

b) _________ is a supervised learning algorithm which is used for
both classification and regression.

i) DFD ii) ERD

iii) Decision tree iv) Decision Table

c) _________ is widely used technology because it is compulsory to
test each and every software before deployment

i) Software testing ii) Debugging

iii) Unit iv) Design

d) _________ refers to the process of ensuring the accuracy and quality
of data.

i) Verification ii) Data validation

iii) Decision table iv) Testing

e) Coupling refers to the degree of interdependence between _______

i) Software modules ii) Data

iii) Information iv) Validation

P.T.O.



2[6224]-629

B) Match the following. [5]

a) High cohesion i)  Each software unit performs
   as expected

b) ERD ii) Data Flow Diagram

c) DFD iii) Entity Relationship Diagram

d) Unit Testing iv) Checking data for accuracy

e) Data verification v) Elements are closely related

Q2) Short Notes (Any 2 out of 4) [10]
a) Data flow Diagrams
b) Types of Modules
c) Unit testing
d) Entity Relationship Diagrams

Q3) a) What is Data Dictionary? Explain its elements in detail. [8]

b) What is Risk identification and Risk projection. [7]

Q4) a) Explain the concept of Software Testing and its types in detail [8]

b) Explain Feasibility Study and Fact Finding Techniques. [7]

… … …



Q1) A) Fill in the Blanks : [5]
i) Artificial Intelligence is _______.

a) Internet Program b) Data Intelligent
c) Machine Intelligent d) Low level Program

ii) _________ is the type of cloud computing service.
a) Software as a Server b) System as a Service
c) Service as a Software d) Software as a Service

iii) _______ is the major part of IoT application.
a) CPU b) Sensor
c) Software d) Data

iv) ________ is simulated 3D environment.
a) AR b) VR
c) 3D printing d) AI

v) ______ is called on demand computing.
a) Internet b) WWW
c) Cloud computing d) Software computing

B) State whether the following statements are True or False. [5]
i) Cloud computing means to store and access data and programs over

the internet.
ii) The basic goal of AR is to provide mechanism for decision making.
iii) ZigBee is the IoT protocol.
iv) Providing Financial Services is one of the main purpose of AI.
v) VR stands for Vertal Reality.

Total No. of Questions : 3]
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Q2) Answer the following (Any 4) : [20]
a) Explain the working of IoT.
b) Write a note on Artificial Intelligence.
c) Explain the characteristics of cloud computing.
d) Write a note on Virtual Reality.
e) Explain PaaS and SaaS models of cloud computing.

Q3) Answer the following (Any 2) : [20]
a) Explain any five applications of IoT.
b) What is Artificial Intelligence? Explain advantages of Artificial Intelligence.
c) Explain any five applications of cloud computing.





Q1) A) Fill in the blanks : [5]

i) _______ is most important quality of effective sales manager.

a) Product knowledge b) Positive attitude

c) Product development d) Good personality

ii) Looking after training is the prime responsibility of _________

a) CEO b) Cost Manager

c) Sales Manager d) Marketing manager

iii) In SWOT analysis ‘S’ stands for

a) Sensitive b) Strength

c) Time management d) Threats

iv) It is process of interacting with customers.

a) Branding b) Packaging

c) CRM d) CPM

v) ______ is the performance expectation that salesman must achieve
during given time.

a) Sales Budget b) Sales Quota

c) Sales report d) Sales manual

Total No. of Questions : 4]
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B) Match the Pairs : [5]
i) CRM a) Analysis of sales

ii) Initiative b) Set of strategies

iii) Sales Planning c) Geographical area

iv) Sales Territory d) Quality of sales manager

v) Sales audit e) Improves seller-customer
relationship

Q2) Write short note on (any 2) : [10]
a) Sales Manual

b) Online sales promotion

c) Sales Audit

d) Ethics in selling

Q3) Answer the following (any 4) : [20]
a) CRM an effective tool of marketing
b) CSR need of an hour
c) Sales Quota and Sales territory
d) Sales Territory
e) Importance of Physical distribution of Goods
f) Need of Warehousing

Q4) Answer the following (any 1) : [10]
a) Explain in detail functions and responsibilities of sales manager.
b) State and explain required qualities of sales manager.


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Q1) a) Choose the correct answer (Any five) [5]

i) The effective rate of duty shall be_______on baggage.

a) 38.5% b) 45%

c) 70% d) 35%

ii) Time limit to file memorandum of cross-objections before Tribunal
is ________.

a) 80 days b) 45 days

c) 90 days d) 180 days

iii) _____ is the rebate of excise duty and customs duty paid on
inputs used in exported final products under section 75 of
CustomsAct.

a) Discount b) Ad-valorum duty

c) Market Price d) Duty drawback

iv) No interest is payable, if warehousing goods stored less than
___days.

a) 60 days b) 80 days

c) 90 days d) 100 days

v) What is the time limit for re-exportation of goods as such u/s 74?

a) 2 years b) 3 years

c) 4 years d) 5 years

P.T.O.
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vi) Period of limitation for claiming customs duty refund is
_________
a) 6 months from the date of import/export
b) 16 months from the date of payment of duty and interest
c) One year from the date of import/export
d) One year from the date of payment of duty and interest

b) State whether the following statement is True or False: [5]
i) Recovery of tax from buyers is not an essential condition for levy

of indirect taxes.
ii) Drawback allowed on re-export of wearing apparel without use.
iii) In case of imports other than imports by EOU the imported goods

can be kept in Customs bonded warehouse for 120 days without
paying any interest.

iv) General Free Allowance (GFA) under Custom Act is allowed on
unaccompanied baggage.

v) Laptop Computer brought as baggage by person above 18 years
of age is filly exempt from custom duty.

Q2) Write short notes (Any Two)  [10]
a) Bailable offences
b) Scope of Foreign Trade Policy
c) Duty Drawback
d) Refund Processing

Q3) Answer the following (Any Four) [20]
a) What are the classes of officers?
b) What is a warehousing station?
c) What are the features of Foreign Trade Policy?
d) What are the exemptions to SEZ?
e) What are the provisions regarding confiscation of improperly imported

goods?
f) What are the basic requirements for claiming duty drawback?

Q4) Answer any One of the following questions [10]
a) What are the provisions relating to import of goods under the Foreign

Trade Policy?
b) What are the provisions in respect of appointment of customs port,

airports etc.?




	6224-601 (PB-1376)
	6224-602 (PB-1377)
	6224-603 (PB-1378)
	6224-604 (PB-1379)
	6224-605 PB-1380
	6224-606 PB-1381
	6224-607 (PB-1382)
	6224-608 (PB-1383)
	6224-609 (PB-1384)
	6224-610 PB-1385
	6224-611 PB-1386
	6224-612 PB-1387
	6224-613 PB-1388
	6224-614 (PB-1389)
	6224-615 PB-1390
	6224-616 PB-1391
	6224-617 (PB-1392)
	6224-618 (PB-1393)
	6224-619 (PB-1394)
	6224-620 (PB-1395)
	6224-621 (PB-1396)
	6224-622  (PB-1397)
	6224-623 (PB-1398)
	6224-624 (PB-1399)
	6224-625 (PB-1400)
	6224-626 (PB-1401)
	6224-627 (PB-1402)
	6224-628 (PB-1403)
	6224-629  (PB-1404)
	6224-630 (PB-1405)
	6224-631 (PB-1406)
	6224-632 PB-1407

